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1. X A7) p.158
Check Up (c) Exercise 1. (d) 2. (a) 3.(c)
[Check Up]
Hi, Aunt Glenda. It's me. | just wanted to tell you how much | Glenda 0|2, Xoi2. 0|27} &4 ZOIXIS 7t okt

love the new puppy you got me! He is so cute and sweet. I've OftiSH=X] 2 E2|1 A0, HE HED AZAY

been playing with him every day and taking really good care Q. 0y 2oty =orn Y & S21 AR, Xz
of him. We're trying to house-train him right now, but it's not o Fot Mstof| ZSHXA EHAZ|T Usol Al 2l
easy. Anyway, | really appreciate him — it's the best birthday Q. M=, ZOoIX| &4 A FY ueELCL XSV &
present | ever got. Please call me whenever you get back in. Ofe Mol M2 & 2102, Zof|l QAIH X2t Met
Talk to you later, bye! M. Lol £ ZEearel
Q: What is the speaker mainly doing? Q: X} F2 5k Y= A2?
(a) Complaining about the puppy’s behavior (@) 12| Zotx| &sof cish E%ota Uk
(b) Asking for advice on how to train a puppy (o) ZOIX|Z Z2A|7|= wiHol| thal =912 st k.
(c) Thanking the aunt for the puppy (c) ol=20ilAl ZOtX|ofl chall 1otES #3i5t QAT

(

(d) Reminding the aunt about a birthday d) 0207 XAl MAS &7 [AAHFLD QA

[ai&]  FEHR9| | just wanted to tell you how much | love the new puppy you got mel”0l A HstE 71 285 & 4 QUot w2t 0]
DIt HAME2 F4 Zotx|ol| thsh ZAtst QICH & ()7 FEolct,
[012]]  house-train (i, 10| eIS) Zoil ZSolct

[Exercise]

1 There has been a lot of talk over the past year about providing — X|f Si2E 0|2 Z0IS g M8 2X o2 MH|A |
government-funded health care for all Americans. This S0il Cis %2 0l0|E L& LICE 0] Mok fldH
proposal has quite a bit of support in Washington and among ot thES07 o= H= XIXIS g st Shxg &
the public. But let’s think about this before we do anything. =02 77| Mo 0|MS MzsH=EAICH 0|2 5t X2
Where will the money for this come from? Taxes will have to 2 oM LieE AR? M2 8 QE 20| #st, Xz &
be raised, which is a bad idea in this recession. Not only that, 2 27700l £X| 42 MZIQILICE T80t ofLl2t H@e
but many employers will also stop paying for workers’ I2RE0| 2=2XE9 E56 o7 By A& =2 x|
excellent health insurance plans. Instead, they'll just let their S5HK| 2 AYLILH N 252 aX Z2XIS0| 0f
employees take this new, inferior health care. MEXIZH & O Eolgt oz MH|AS 2| & AYJLICH
Q: What is the best title for the editorial? Q: 0| APMO| 718t MESH =227
(a) Why The Public Supports Government-Funded Health @ o HESS M2 BX 9|2 MHIAZ X[X|st=7t

Care (o) ¢1& Bl yEu 2y
(b) The Advantages and Disadvantages Of Health Insurance ©) Mz el #I1™
(c) The Dangers Of Raising Taxes (0) ol 2= o= MHIAS EXsiMe= o ==ot

(d) Why The Government Shouldn’t Fund Health Care

[3H4]  “But let’s think about this before we do anything.” CHS0l| 0|0 X|= LHE0IA SiXts M2 EX o2 AMU|A0| Chal Hich &
Ol HE o 4 e}, math HE2 (d)olch

[012]]  recession (YAIXR) 227|

ﬂ
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Alright, guys, let’s start off with an overview of Techwood Z0}R, Techwood CHEOf Ciell HTHE= A2 ARl
College. We have six dormitories as well as several apartment 2% ZimA FHols & J{9| OfItE TX| #ot of2t
complexes around campus, and we’ve got two large student oAl il 7|SAPE QT S JHel 2 ShME|pte Qe
centers, too. These centers have lounges with TV viewing, C}, O] 7429 SAMMME TV AIF0| 7kssta, AEC
study areas, computers for students, and even some fast-food 2 Mg ZEE HAERCS SAIMEL QBLICH o2
restaurants. Since you're all first-year students, you'll each get 2 25 AMolr] R &F JEECE 01X AN
coupons for these restaurants in your welcome packets. You S0 ZEE e E UL}, &£ O 7[ES0l st =
will also get a campus map in your welcome packet soyou can = S0{QloL| RE st A20| ofC|ol JU=X| Hats| 3t
find out exactly where all the academic buildings are. 2 4 US duch
Q: What is the speaker mainly doing? Q: 3P 2 5t Qe AHe?
(a) Conducting an orientation for college freshmen (a) Chef AMUYMS 2IB 22[QE|0[HS Zltistn Ut
(b) Describing the features of a college student center (o) Ciist b 3ol Exg dHsta QlCt
(c) Showing college students where academic buildings are (©) tierdsolzl afu ¢E9 IRIE YeiFn Uk
(d) Taking people on a tour through a dormitory (d) ZHHSO|7| £AZ CHfsiZzn QCt
[6HA] = 2&9| “Alright, guys, let’s start off with an overview of Techwood College.”S E4ll Stxl= 22|lE0|MS TIgstD Qlct
= A2 Y £ U1 you're all first year studentsE Sall 1 THAO| Chst MUMSAS L 4 ooz HEH2 (a)0[C
[012]]  start off with ~o22E AIXGICt  welcome packet &si6i7iM(@el7[4ES0] S25 AUS)  take A through B A7t BE 2=
= oftt
We've all experienced post-nasal drip, when our sinuses SHIZ0IM HSR 2L 4R M2 Fo| Lig of 47|
produce either too much or too little mucus. This can cause = BHIZ 548 O Zgl 248 Utk o] 342
sore throat, coughing, and just general discomfort. But you 2 Qlsf =0| ot=ALL 7|7, 2z2|n YRRl EHEO|
don’t have to suffer through it. If you have post-nasal drip, UAE 4 JBLCE SHXILt olx I8 nE5g g eIt
drink lots of water in order to relieve excessive sinus dryness SIGLICE FHIZ B40] UCHH, 229 npedt AXE
and thin out mucus. You can also take decongestants to drain S YUstA7|T, oS F0(7| sl 22 L0 TAAR,
out sinuses or prepare home remedies to relieve pain, like 2HZES H[R7| YoM ASHE 28 45 T, AF
gargling with saltwater or using baking soda solutions to clear 22 7L 242 WReH 57| Yl wjo|dAct
nasal passages. Also, try to avoid smoke, allergens, and dry S 0|8sok= AXY RIZIREES ME & UASLCH 1
air, as these can aggravate your symptoms. 2|1 Soit 27| ey, MRS I BHE st
Z & U] R0 E==01¢ msHYAR.
Q: What is the main topic of the discussion? Q: 0] =9|9| Z=x|= 2ofol7}?
(a) The health benefits of baking soda (a) HOIZALIS] 212l oY
(b) The symptoms of post-nasal drip (o) =HIR9 B
(c) Ways to cope with post-nasal drip (c) FHIRE OR= Y
(d) Ways to avoid allergens (d) el=27] S mloh= Y
[3H4]  “But you don’t have to suffer through it.” CIS0]l O|0{Xl= LI8S &HIZ S4E LIE 4 Qs YHE 0|22 Y2 (c)olch
TIHHR0] SH|IZ S0l tieh etget A2 AMOIXIRH E2%01 LH%OIDE (b)= ol & 2 gict
[013]]  post-nasal drip SHIR2FZ S2iUzl= 28)  sinus RHIZEHS 49 T 9ZEO=2 00Xl )  mucus T
thin out £01E sict, XMoix|A sict decongestant 52 2tsix|, ASx  allergen 221271 &2 aggravate 2{stAl7|ct

ASO Answer key
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Check Up (b) Exercise 1. (c)

[Check Up]

These days, you can get just any old cup of coffee from a big
chain café on every corner. But what about those gourmet
blends made from only the most select beans and brewed with
the utmost care? That’s why there’s Helios Coffee. Slow
roasted from the most exotic and exquisite beans, Helios
Coffee is meant for only those with the most sophisticated
tastes. So don’t waste your time with inferior coffees. Savor this
superior java. Helios Coffee.

Q: What is the main point of the commercial?

(a) Helios Coffee is the nation’s most popular brand.
(b) Helios Coffee is the highest quality brand.

(c) Helios Coffee is slow roasted for maximum flavor.
(d) Helios Coffee is the most affordable brand.

2. (d) 3. (d)

(

(b) Helios Ij= 71&t =2

(c) Helios #Tl= Ztho| BtS L§7| Qs HHs| Bt
( f

)
d) Helios 7{tili= 7t Hggt 7t49] &R0

[3H4&]  “But what about those gourmet blends made from only the most select beans and brewed with the utmost care?’ & &

sl Ol A= Z¢ol S22 At AUtts Ae & 4 AT w2t

savor St2ct 205l

[Exercise]

1

So, | finally got around to reading the famous Poor Richard’s
Almanack, written in the 18th century by Benjamin Franklin,
one of America’s founding fathers. To be honest, | didn’t expect
much. | mean, what could a guy who has been dead for more
than two hundred years possibly have to say that would be
relevant to today’s world? Well, the sayings in this book aren’t
just corny, old-fashioned truisms. They are bits of fundamental
wisdom true in any age — past, present, and future.

Q: Which statement best summarizes the talk?

(a) Poor Richard’s Almanack contains many sayings.
(b) Benjamin Franklin was an important American.

(c) Poor Richard’s Almanack is still an important book.
(d) Benjamin Franklin is irrelevant to modern society.

g2 (bolct,

[01Z]]  blend (2% ol&e| 7u|- &t 52) 2= gourmet 0[AZL ®M27F brew (XI2) 20l 2HSCt  exquisite 283!, Hw

3

ol

M L= =

(et 2lx=e

[YSt Poor Richard’s Almanack
g A =t o] M2 oj= F
Xt 59| of Hel Benjamin Franklin0| 18AM7[01 2 74
e 2 7|tHE kx| §Qtct 200H = of

Toll =2 AMZo| el Mlel HEE R& of7IE
Hojl MoAZl USE IX TIESHA

{74, Sz, 0f2f 3 o

R L

ch
(o) Benjamin Franklin2 £R3t 0|=Ql0|ct,
(©) Poor Richard’s Almanacke& 45| &2t 2o|ct,
(d) Benjamin Franklin2 SiCH Ats|t 217} @ik

[

[6H4]  DFXIet 2%9| “They are bits of fundamental wisdom true in any age — past, present, and future.”0| A stAk= 0| &o| @5
Z7RE 2 X[6E F= £2 Moletn Datn QT mhetd FER (o)olch

)
ﬂ

get around to ~7IX|= Sict ~0f alg 2tk almanac(k) ¢, A
HET

ol
Ho

corny TSt FAI9l  truism AfHS! 0|, RIS

F

founding father 7i=2| OtHx|, Z&xt
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Wireless technology offers many benefits, but wireless
networks must also be properly secured. Otherwise, you
leave yourself open to many serious threats. Intruders can
use your signal for free and slow down your Internet, and
that's the best-case scenario. In many cases, criminals will
use your network to mask their cyber-crimes, which can get
you into trouble. Finally, these criminals can get access to
your personal information or even to corporate networks that
are connected to your own. As you can see, wireless
protection is crucial.

Q: What is the main point of the discussion?

(a) Unauthorized wireless use can slow down networks.
(b) Wireless networks are inferior to wired networks.
(c) Cybercrime is a serious problem on the Internet.
(d) Unprotected wireless networks have many risks.

BIE] A 2 oY 288 Sl
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[012]]  threat #/& intruder XL LXKt unauthorized Q17h &X| 242,

Now, as you all know, 1066 was an important year for
England. It was then that Normans from France, led by
William the Conqueror, overthrew the Anglo-Saxon rulers of
England. This led to many crucial developments. First,
William dispossessed the English aristocracy when he
became king, gave their land to his followers, and reduced
English control over the Catholic Church. Furthermore, many
Anglo-Saxons fled the Normans and settled all over Europe.
Finally, the language was transformed. French was
introduced and merged with Anglo-Saxon to eventually
become modern English.

st o)

1=

OlH| 02 25 OFAICIAIT] 10662 E=0il A0 &

SiUELICE F5E WiliamO| 0|T1= ZgA =20HE0]

= Y22 MRS E=st A0l Hi2 Yot of
= o

== 2
o2 328t UM olEUSLICE HAY WiliameS 27}
E

r9£

de o o

7
Lick, Akt 22
U 9 Tl &
0|&, TZIAO|7}

=
U oo Foi7t =ASHCL

Q: Which statement best summarizes the talk? Q: 0] 0lOF7|E 7H & Qofet A2
(a) The Norman Conquest strengthened English Catholicism.  (a) =22t0| =22 H= JtE212 UStAZCt
(b) English is a combination of French and Anglo-Saxon. (b) Foje ZRA{Qt WZ2 MA0{0| ZEto2 MR
(c) William the Conqueror was a terrible English king. (©) F=& Wiliam2 M2 F= Zo|ACt
(d) The Norman Conquest greatly changed England. (d) =20t0] M=E2 F=S Ho| b=y
[61d] =20t F=oz Alg| X|HHE0| tHT St Foi7t EHRick= 230 & W&0|22 '=20to] H=0| J=ol 2 WS Tt
of = ()7t "Holck
[012]]  overthrow SZlofict Et=sict  dispossess WiOICh BIE5ict  aristocracy 7%, 485 flee ottt mfsict

merge &Al17|ct
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1. LHE x| p.166
CheckUp (c) Exercise 1. (a) 2. (c) 3.(a)

[Check Upl
Are you tired all the time? Is a lack of energy keeping you S T|ZSHAUZIE? AR MM A5 LsHAL K7t AlRtE
from giving it your all at the office or having fun during your &4 o] gledzte? JIMAICHH Reboot Energy™ S22
free time? Then you should try Reboot Energy™ drinks. CM BAQ. C2 XIULEKQL= Ch2| Reboot Energy™
Unlike most energy drinks, Reboot Energy™ has no sugar = 2ME0|T, OFF AZO| FHHQIDt SOQELICH SEX|TH
and only a fraction of the caffeine. However, Reboot Reboot Energy™0ll= B2 Z&E1t HIEILI0] S0UT, A
Energy™ has a lot of iron and vitamins, which gives you oF OPME 0] MESO0| M AS0|Lt Halo| Z0l6tA sHA|
five hours of energy in just a small dose, with no IO IS 5AIZE SO HE & Ul sl olUXIE =
hyperactivity or grogginess. 2 g,
Q: Which is correct about the energy drink? Q: 0| XIUZEHOf CHSE LhRoZ 22 7127
(a) Itis effective for up to four hours. (@ ZICh AAZI7EX] S 3p7t QACE
(b) It has more caffeine than other drinks. (b) CtE SEECH o ¥ 7HH[QI0] SOIUCH
(c) Itis sugar-free. (c) 2dgol MEolct,
(d) It contains no vitamins. (d) HIEfR! &&e it

[8#4]  “..has no sugar and only a fraction of the caffeine.”S Eafi 0| SIAM0l= MEO| SOUX| Urh= XS 2L 4 ULt no
sugarS sugar-free2 HIFLO £ ()7t AFoOICH,
[012]] giveitone’s all 2Al0] &g Cisict  a fraction of 22f9]  hyperactivity 2/ &5 grogginess HIS72
[Exercise]
1

One of the greatest moments in the American Revolution
was when General George Washington's army crossed the
Delaware River on Christmas of 1776. This was
memorable because of the great odds against Washington.
His army was small and lacking morale as he planned a
surprise attack on a large British force at Trenton, New
Jersey. When they crossed the Delaware, they faced
stormy and freezing weather that prevented other
American generals from accompanying Washington as
planned. However, Washington's army indeed crossed the
river and defeated the British forces at Trenton, suffering
less than 10 casualties.

Q: Which is correct according to the lecture?

(a) Washington'’s troops suffered from low morale.

(b) Washington crossed the Delaware river with other
generals.

(c) Washington defeated the British at Delaware in 1776.

(d) Washington’s army fended off a British surprise attack
at Trenton.

0= oY AtM 7t oist &7t & ottbs George
Washington &w2| 27t 17763 F2|A0rA0 Delaware
42 WS mo(ct 0|72 TAIZt WashingtonOi| 7| T =
2Ch= oAl 7|oE et ARA0|Tt Washington &0|
New Jersey2| TrentonOllAl T 22| H=t HHof 7534
2 A=gie o, 19 Riis 727t AUT AT|I7H BoiH U

2
(=]

. 19| 27} Delaware 22 g mf £
PN, AZYE 2 o2 o= &2

Rt siXIZ Washingtonl Hti= 10Y 0

2= g 93, TrentonOAl E=228 2

S0l xl= of
=

o asmt

nc
o 40 3

P

a0z 9 Ho
>
o
=
=
©

5

>
=

o
ml

Q: g & 299 uiga exlske A

rlo

)

(@) Washington®| 2t A7 |7F DOIRRACE

(b) Washington2 Ct2 A1t &7 Delaware 22 71%ICH

(c) Washington2 177630 Delawaredil N H=& FERACH

(d) Washington2| 2= Trentont A H=9| 7
afopACt,

AT 7O
342

[314]  “His army was small and lacking morale~.”0ilAl Washington0] 0|11= 2= #2E &1 A= A U= AE &
2= Aot MatA lacking morales low morale2 HHE0{ £ (a)7F HEO|C,

)
ﬂ

memorable 7|23t Bt odds 7ts4, &4 morale AP|

fend (Z, B melS) Bobg (o, Yofsict

defeat misiAlZICE  casualty AHXH
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Attention all students: next semester the university will DE SHSA U OIS si7|olz AHRl| HISS Y
provide advanced Spanish classes for learning Spanish 7| Yot ng AnRlo 0| JdE AYLC of &
dialects. This course will cover the ten major Spanish dialects OllM= oltil2|of BH=Of ARE] ofml2|7t X[, AlX|of otz
spoken across the globe, from the Iberian peninsula to the 27K T MAMCZ AMZEl= 10712] £ AH|Ql Bied
Americas and even Africa. Students will immerse themselves S CIEA| ELiCh SHSS OfXE Cibet X[HolM 2 A
in these dialects by having extended conversations with HRI0| AISXSH S LIFse2M AR HAHS
Spanish-speakers from these different regions. Because TE6 2 4 A2 AYULCE o] £ T1ZHo|7| IR
these are advanced courses, only students who have had at off Mol 2 Fr= ALRIE HiSH stiS0| 42
least two years of Spanish may take them. st 2 g,
Q: Which is correct about the class? Q: 2 & 0] goll tish SHIE A2?
(a) It will focus on a single Spanish dialect. (a) Am[ol Bio1 shLfoll TEE Zo|ck
(b) It is open to all Spanish students. (b) 2= AmQI sHS0| 24 4 QUCk
(c) Itis taught by native Spanish speakers. (c) Am|2lof AofLlo] Zt=FICE,
(d) It will review Spanish literature. (d) AWl 2st= JH@e Aok
[8i4]  “...by having extended conversations with Spanish-speakers from these different regions”S sl AmQl R0{2I0| 5t
Ch= A2 & & QUoh webM Y2 (c)olch
[01g]]  dialect &9, A2l immerse SF[EF6iCH
3 The Golden Crane has been named one of the year’s top ten The Golden Crane2 100H0| &= HIH/IE22H Sdf
best pictures by over one hundred critics. Newsweek called it Z|mol ¥st 10 & SHZ ERSLCEL FAYTE 0| ¥
a ‘moving masterpiece.’ Time magazine says, ‘It will bring you 3£ ‘2%l0|= BAF o2 231, EIUX[0|Al= ‘0| 37t
to tears.” And the New York Times has called it ‘one of the SAIS 22 Zio|ck 2tn FELICH 2|1 S2ERIX|= 0
greatest films in the last decade.’ Now it has been nominated A3t K|t 10 ZHE fioiet Fst F oif 2t P&
for seven Academy Awards, including Best Director, Best LIk of k= optHin] Al x4 d=d, o
Actress, and Best Picture. Come experience the film that has oA E@4 AHEMS HEl| 771 B20| SHE 2219
won the heart of America. The Golden Crane. Rated PG-13. SLCh 0129 032 AIRE2 0] Fste H2x Eel
Opens November 12th. HAAL, The Golden Crane, PG-1368. 112 12& 7i&,
Q: Which is correct according to the advertisement? Q: o= & 0| g11o| 81 Yxlok= A2?
(a) The movie has received a lot of critical praise. (@) HE7IE9 e sEsS LUt
(b) The movie is currently playing in theaters. (o) 2IM SEoIM &Y Solct
(c) The movie is rated PG. (c) PG 582 2L
(d) The movie has won seven Academy Awards. (d) or7tHID] AlefAlol M 7712] &S BIRACE
B A 2EolM 0] Fh= B2 HIEVISZRE 26 209 F3t & sti2 EJCHD Hesz Y2 (9)olch. 0 k= of7to|
SHAOIM 77 2201 SEE 2E 2 (nominated)0|X| OF2] £45t 2 OfLEE (d)= E0ol 2 4 8iCh
[012]]  masterpiece Z% Fx  nominate ~o FE2 X[Haitt PG T HeviolE 22 St 27 (=Parental Guidance)
PG-13 134 0l5t E&At S| 27=l= st
EX| X 170
2. EX HH p
Check Up (@) Exercise 1. (d) 2. (a) 3. (c)
[Check Up]

You want to look your best, right? Well, Melody’s Hair and
Beauty Salon will give you just the cut and style you need. We
give the best haircuts, manicures, and pedicures in town at

AS4  Answer key



bargain prices. Also, next week is prom week, and all seniors
who are going can get our prom special — that means any
service at half price! No one else can beat that deal. If it's just
a haircut to impress the boss or spouse, or the full beauty spa
treatment, Melody's is right for you!

Q: According to the commercial, who gets a special
discount next week?

(a) Students attending a prom get a discount.

(b) People getting a manicure get a discount.

(c) People receiving a haircut for work get a discount.
(d) Students who are graduating get a discount.

77k 28| F210(01A 0f7[0) FMFH= BE ATH
OfF MBAZKE Bigtom S SIS W 4 9l
o} O 7E ol 22 SES KB 4 U2 Y
LIk AALE B2 RIOA 2 Q1S AojZEE 2

801 Z0ILt TAI HE| AT AOISACH, A=

Melody7} 7Fe HARLICH

o> nn oo
rlo

r

Q: B0l 2, O Fo| S IS B AR?
(@) Ealol AMEHE StiS

(b) HUTOIE Zate MRS

() 22 2UsH 0 %S e MRS

(d) Best= S

[a14]  “... all seniors who are going can get our prom special — that means any service at half price!"S E3lf Cts & &Y 2=30]
TMet= ads0] Bt SlEis 2e 4 QU= As ¥ 4 ALBZE FHZ (9)olCh
[013]]  prom (Gl =2 23|
[Exercise]

1 All right, today we're going to look at sea turtles and how 2012, @52 diCiH=20] CiohA AMmED, oEAH 2%
they've adapted to their salt water environment. Unlike most S0/ HiRtE 2HE0l|l MSot=X| YotEZNSLIC tHE R
turtles, they can’t retract their necks and limbs because having HE0(t= = HICHAZES a3 SZE0| YoH Wy
such a shell would prevent them from swimming rapidly. They 2HS 2P| 20 Z20|Lt CIRIZ MXfRZ2 S8=2
also have many red blood cells, and they can divert all their 27F QIELICH £ ML U L AR O2jn MAX
blood to their brain, heart, and nervous system to allow them to  Zl0||7jx| T2 &8A7 QU A7t SO 2 L0{A A 4
dwell beneath the surface for a long time. And, of course, they QEZ siELLCH 282 =2 S st A22 MMl
have a salt gland to remove excess salt through their eyes. FE GME 7HX|T Q&L CH
Q: Why do sea turtles redirect blood to certain organs? Q: 9f HICHHES EF 7|2 I|Z &8tA|7|=717?

(a) This allows them to take in salt water. (a) HIZ=S wWots0|7| LIshA
(b) This removes excess salt from their eyes. (0) =0l A= HTiet 252 MASE| sl
(c) This helps them swim more rapidly. (c) O 2| £F57| LIshAM
(d) This allows them to stay underwater. (d) 2£01M HE7| RlshAM
[31&]  *“...they can divert all their blood to their brain, heart, and nervous system to allow them to dwell beneath the surface
for a long time."0llAl HICIASE LIS «8tA7 FAE 2 &(0IM 4 £ Qe A2 Y 4 UCL beneath the surfaceE
underwater2 HILO| ¢ (d)7+ HEO|CH
[012]]  retract MXt2|2 Saf=ct  limb X|=2i0], 2tz red blood cell &7 divert Sa2ict si¥sict  dwell Aot HF5ict
salt gland g A8 redirect ~& CHA| &sict

2 Today we're going to discuss a fundamental concept in Q=L hlYHgoletn 2R 5w 712 uelof
Hinduism called the Trimurti. Basically, these are the three tholl =Clot&LICE 7I2MoZ 0|42 *F AXRAEM
central gods revered as the creators of the universe. They are ZHIE BH= 33| ZEXQI AIS Tl Helof HlAs
Brahma, Vishnu, and Shiva. Respectively, they represent the AlBE7E sHEEILICE 259 &tol| chst of 2 sHAE0| U
forces of creation, preservation, and destruction, though there oKl O AEE2 22 Fx, HS niulo) glg MY
are a few other interpretations of their roles. Though they are giLch 152 M2 Ch2 AS0[X|2H siitel glozk
three different gods, they are also seen as a single force. =1 S Ry

Q: Where would this speech most likely appear?

(a) It would most likely appear in a lecture.
(b) It would most likely appear in an editorial.
(c) It would most likely appear in a news report

Q: 0] 0joF7|= ofCiolM LIEE 7Hs40] B2717?

(a) Z2lolM
() AFEOlIA
(©) HA BEOIA

Section C - Chapter 5 A95



(d) It would most likely appear in a commercial. (d) Z0ilAM

[a14] = 2%9| “Today we're going to discuss a fundamental concept in Hinduism called the Trimurti.” & Salf Z2|9| YLEQI
WS e g £ ASSZ FHE (a)olcth
[0f2]]  Trimurti MAI2Y™A  revere stfisict, 22f2] SZsict
3 Today’s Animal Lover of the Day profile is Steve Irwin, most s Mg S8 iS7t= Steve IwinQ=2 40| Al
famously known as the Crocodile Hunter. Steve was born o= 7ty ga| LM UELICE Steves 5 HlEZ|0
February 22, 1962 in Victoria, Australia. He developed a OflA 196218 22 2220i| EfO{LE O WEH 20ig £
fondness for crocodiles at an early age and even protected O3 MXI0 2A0iE UHFCZE HSohy|= JSLICH
them from poachers. In 1991 he became the manager of 199150 7= Queensland®| IE5F S8 329 &
Queensland Reptile and Fauna Park, and he wed his wife in 2|elo] =1, ChS &l 6ol 222 FELch 152
June of next year. They soon began filming a wildlife 2 SteveS TV AES UE0E OMMSE CHFUEZISE
documentary that would make him a TV star, a reputation he LS| AR, 2006E HIFER) =52 Holg wt
enjoyed until his tragic death in 2006. X HyE =&
Q: When did Steve Irwin get married? Q: Steve Ir'win 21Xl A=3=71?
(a) He got married in1962.
(b) He got married in1991.
(c) He got married in1992.
(d) He got married in 2006.
[314]  “In 1991~, and he wed his wife in June of next year.”0 Al Steve Irwin2 19914 C+S siQl 19920 AEst ZHE &+ Q
ooz FH2 (ot
[012]]  profile X2 TV) 912 47  poacher Z&#
X =]
UNIT ZE BN
X
1, OEII:I|_|- -] p.174
Check Up (b) Exercise 1. (b) 2. (c) 3. (d)
[Check Up]
Hey, Kyle, it's me. Just calling to check up on you and see if you = oH3 Kyle, LIok 2 & XU QU=X|, CF HESX| SOl
found everything okay. | left plenty of food for you for the rest of = &t2im ®&16H 7ok HI7F KA S9OF 52 4 U S48
the week, and there should be enough dog food for Pickles. 0| FEHlalE1, Pickles? MRE S23] US 70k 612
Make sure you give him medicine twice a day. You can take my = off & M PicklesOi|lZil 2F Hol|= 7 YX|o}f, L XE Etz
car out, but make sure you fill it up with gas before | get back. LI7te gX|2F W7t Sote7| XMols 712 MY =22
Anyway, I'm supposed to be taking a little break from work and 5, OFRE, L oA SofLt & 4HAM Ha| XL 6,
relaxing, so I'll let you go. Call me if you need any more info. 03 30t B2 O 2027 Qo Mt
Q: What can be inferred from the conversation? Q: 312 S5l 228 4 Us A2?
(a) The speaker owns two pets. (@) Stxh= o | 2ot2|olct,
(b) The speaker is on vacation. (b) 3fxH= &7t =0|Ct,
(c) The speaker is using Kyle's car. (c) StXk= Kylel| X AFEstD QUL
(d) The speaker is Kyle's sibling. (d) 3txk= Kyle2l Fxo|ct,
[aH&]  ofx|2tel “Anyway, I'm supposed to be taking a little break from work and relaxing,~.” 0l M HstE 21 A §It2 itk

2 2+ ooz FE2 b)olct
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[Exercise]

1 | would like to thank everyone for the nice party. You know, 02| STl mEIS LoiFAl 2 24 ZAF E3UCE o
I've been working for this company for thirty years, and | 225 ORAICIAIL, K= 30 S 0] FJAIIA st
have loved every single day. Even when things were difficult, SIRSIEE S| BHELICE o2 Lol SRS molx=
I knew | could count on all of you, my fellow coworkers. | am XMe S2 6207 9XIE 4 URSLICH 2 BETt
going to miss you guys, but my time has come. | just hope JZZX2E O|M w7} AHIR. K240 AV} 2El5HA of
that when it comes time for you to step down, you will have Ol XA £ =AS who| ZHRIGIA|IZ HiZh solLct
as many good memories as | do.

Q: What can be inferred about the speaker? Q: SOl sl FEY 4 Q= HE?
(a) The speaker has been hired by another company. (@) BfXt= CHE SIAOIIA 2RaHRICE
(b) The speaker is retiring from a job. (o) 3txt= 282k Ao|ck
(c) The speaker was the boss of the company. (©) etit= Il AFgoltdt,
(d) The speaker is celebrating a 30th birthday. (d) BHRH= XHilo] 3081 MAs 7IEati Ut
[aH4]  DRX|ZFQ] “| just hope that when it comes time for you to step down ~ as | do.”& Sall sfit= 2&| 7|GAIS ot Utk A
S Y 4 QlCt m2tM step downg retiringS L0 £ (b)7} HEO|CE
[015]]  step down Ar=laict

2 | want to thank everyone for coming here tonight. This means Q5 B oAl GIENA A EZLICE 0] Patat Ko
so much to Pat and me. Tomorrow will be a big day for both of 7| ULt ASSHICE YL M3 T AROIA 01 &2
us, and we wanted to share it with all of our friends and family. &t 20| € Zi0|1, XMal= 2% FLED JIFEED Lis
Ever since we met in high school, we knew we were meant for 1 A&LCH M7t 1SS0 Bt 0|22 22/= M2
each other, and tomorrow we’ll realize that dream. One day, HMHE0 (2 742 AT LY Xsl= 1 B2 ASAIZ|A
when we have kids of our own, we hope they have as many ELICE SMIZE KE|7F AHHZE 284 =3, 11 010|S0] Xg)
people that care about them as we do. We love you all! 2 052 OpAS = U2 AIRISD &7 617|2 HILct
Q: What can be inferred about the speaker? Q: SiXtof| CHalf F2E 24 Q= 7H2?

(a) The speaker is attending a family reunion. (@) Stz 7t= 2o FAE Zolct
(b) The speaker is graduating from high school. (o) 3tXH= n5stnE EYst Zolct
(c) The speaker is getting married. (c) atxt= 222 o Ao|ch
(d) The speaker is expecting a baby. (d) Sfxh= 0105 %7l & Aolck

[sH&]  “..we knew we were meant for each other, and tomorrow we'll realize that dream.”2} “One day, when we have kids of

our own,~"E Soff LHY X7t HA2olth= Ag & 4 UCH w2t FE2 (c)olch
[012]]  we were meant for each other 22! Z4120|CH(=we're match made in heaven)
3 This weekend at Save-Mart®, we have a wide range of special ogt 2t

2 Save-Mart®OllA= CHOHEIQ! SVHHOIE AA|
LicH 41020 [AI2HH 127HS0| ACks 3HE 8
o

w

sales and bargains. You can get three twelve-packs of soda for

eight dollars and two family-size bags of chips for just six dollars  0f, CH@AO|=2] X 270 © 6F2(0f At & U&
if you're a value shopper. We also have plenty of clearance LICE &£ 7Ix, ofntE A, FHEE ZeleiA 0=lo]
discounts on baby products, including diapers, strained foods, E5C MuFe| gols ditixez & AYuct 2eY
and toys. Come take advantage of these deals at Save-Mart® 0% O] &AZE BLIL| 7|2t 2ol Save-Mart”S ¥&Eat

while they last, because Monday will be here before you know it. ~ MAf 0] CtefGt 5

Q: What can be inferred from the announcement? Q0] BXIZ Soll FEL 4 U= A=2?
(a) The store has a clearance sale on soda and chips. ingel Hols Sk
(b) Value shoppers do not get special discounts.

(c) The store does not have many baby products.

(d) The special sale is only during the weekend.
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[5H4]  DEXI2f] “Come take advantage of these deals at Save-Mart® while they last, because Monday will be here ~"£ Salf 0|
A= FUVIXPE DHECH=E AE & o ALBE FHY2 (d)olck
7
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Check Up (b) Exercise 1. (c) 2. (d) 3.(a)
[Check Up]
Well, folks, it's only a few months away until Microsoft releases {22, MicrosoftAt7} Office 2010™2 EAl6t7(7HA
Office 2010™. It had been kept pretty much secret until A% R GHi0l gX| ZUAFUCHL ARES MEsie F
recently, with several reviewers getting advance copies of it EE HZoh= 2 AR0| AUS0I= =76t ZZVHA|
and providing information. | happen to be one of them, and | HOO| AMEs| A X|7AM ELICH Mz a2 Al =9
can tell you that after using the program over the past weeks, | SHAQIN XLt H F SOF AlRelE Znt 22 M2 A
keep finding more and more to like about it, things that | think O 2o| 2tAsHA =lUle. o Ol Office HEECE
put it a cut above earlier versions of Office. o o St MziEuch

)

Q: What will the speaker most likely discuss next? AP Ol =9 WEeR 71y Lo A=?
(a) Problems with Office 2010™ (@) Office 2010™2] EHIH

(b) Features of Office 2010™ (o) Office 2010™2| E%

(c) Different versions of Office () Office?| CHE KIS
(

(d) The release date of Office 2010™ d) Office 2010™2| EAY

[8#4]  *..things that | think put it a cut above earlier versions of Office.” CHE0H| 0|02 LHE2 Xt HMECH {EH HOAM S 4~ ¢
QIX|, & Office 2010™°o| EAl50[22 HEE (b)0|Ch

[012]] advance copy 7#=2EZ  acut above ~2Ct LI 5t 4 20l

[Exercise]

1 This is DJ Blaze on KBBL. You know, listeners call up all the XMz KBBLS| DJ BlazeULICH ORACHIIA| FF X 20|
time and ask who my favorite band is. | really like so many e HeIE SMM M7E 7K Bofste MEIF =7 =
bands, and | can't pick a favorite. But | must give a special OlEALCE M= MY B2 HESS Z0kHM stHE 1S
mention to Mr. Kix. These guys are an amazing band, but few 27b gisLCh SEXIZH Mr. Kix0ll thshM= S8t of712
people have heard of them. I'd love to give their album more SHopELICE o] HeEs Mot ZIESinisx|at 0159 89
airtime and get their name out there. Oh, and they're playing 2 S0EA 20| 72| gigLc 2& S0l 0] Y=ol AH
at SummerFest this year. Please check them out! 2 & O Alstn 359 01§ Y=l 4Ue. @, 1

Q: What statement would the speaker most likely agree

with? Q: s} g Selg soR Hols we?
(a) Mr. Kix is the best band in the world. (@ Mr. Kix= MIAOIA 7+8 Z|110] BHE0|Ck
(b) Mr. Kix has not produced a good record yet. (b) Mr. Kix= O £2 SEtS LA LUCE
(c) Mr. Kix needs to be played on the radio more. (©) Mr. Kixz 2IC|00M SH HEE0E 2RIt QT
(d) Mr. Kix needs to practice more for SummerFest. (d) Mr. Kix= 0IE SHIE floll & & BRIt ok
[314]  “I'd love to give their album more airtime and get their name out there.”0l|l A 3fX7} 12 Mr. KixS XMAIQ| 20| ZT20f| 2
Al ACh Yot A2 Salf (€)7F HEHYS & 4 Uk
[02]]  airtime @ICI2) W& Al get one’s name out 0|2 2|t
2 As you've all seen from my presentation, this company has M 2HEE Sdff 241 Hiet Z0[, 0] slAk= XI sholl ofF
done a big 180 in the past year. After the last unfortunate 2 35 /UL X Ho| SHol= Felshng 5t o
round of firings, we reorganized management and became 5 M= d¥2 MRMsh B0 ZAXoR ZUE S
more aggressive in our advertising. In three months, we LICE XMl Ml g 20| &4 X7k & 71 2 012e
turned our loss into one of the company’s largest profits ever. 2 HIH=UELICH O|M O 0|4 FAI5| =25t Ush= At
There is no further need to lay off any of the people who 2=S SimAlZ TRt SLICH XDt RS AMztsl=
worked so hard to turn things around. However, we can be a ol ishMe 50 XY 4 Lt

bit more creative in how we cut costs.
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Q: What will the speaker most likely discuss next? Q: SXP7t O30l =g 822 JH Y2 A2?

(a) The speaker will talk about management’s new structure. (a) stxte M2 2Y 7201 thisl o7t Zdo|ct,

(b) The speaker will explain how they made a profit. () 3txt= 250] O{EA 0|US DHESHH=X| AHE 20|

(c) The speaker will talk about who should be fired. ch

(d) The speaker will discuss ways of saving money. (c) 3tXt= 7+ s &|ofoF sk=XIofl el o7& Zdo|Ct,
(d) stite =2 et EHoll thel =2/& Zo|ct,

[af4]  “However, we can be a bit more creative in how we cut costs.” C}20]| 0|02l LHEE H|ES HUE 4 Ql= Ao|X0| giH
S0|Ct 2kA how we cut costsS ways of saving money 2 HIF0{ £ (d)7+ HD*Ol[}

[012]]  do a 180 180= 5iCh(=tun things around)  lay off a5l

You may not believe this, but Valentine’s Day usually isn’t A2 0|72 UX| US S5 UZIX|SH LHIER! Hjo[= o
romantic at all. Most men just robotically buy flowers and N Tlof HRIRO0IX] ELICE R IXIEE L2 2E
chocolate for their sweethearts year after year because AIFE0| 2217| W20l oid 7[AXeR Hels s Zat
everyone else does this. We need to shake things up a little. ZE22IS ML R2= 0[P UES LMoz HiE T
For instance, one woman wrote in to our show that her 7b JUBLICE oS ST, 3t 63ME0[ XHAIQ| HHO| Al
husband surprised her by spelling “I love you Susan Jo” with 2 Susan Jo'2tT EX[0f MAl Xt 20| 204=0} ARblS
cardboard letters on her garage door. The next year, he =2 e AE HUIFAASLIOE OE sfol gHe
sprayed the same message on their pasture, where their LLE U8s =Yo| Aneo|2 #HT, 0IRE: 1S
neighbors could read it. This is the kind of creative thinking £ & UUZLCE of2! Zol vtz ol J|FYS ot B o
we need more of on this holiday. oot FoXQ! Mzt
Q: What can be inferred about the speaker’s view of Q: ZELR! Clofof| &St SEXte| ooz F2El= U2?
Valentine’s Day? (@) &t welElRl olojt M2 0] Sictn M2sict
(a) The speaker believes that Valentine’s Day has become (b) stxf= o A2 AMFS0| LHIER! HoIE 7[HoIE
predictable. B2t
(b) The speaker wishes fewer people would celebrate (©) 2ixk= LEErR! Hol7F 7+ Tolls Yol
Valentine's Day. 2F3tCh
(c) The speaker thinks that Valentine’s Day is the most fun (d) BkxH= LRIELR! Hlolof ME2S = ) W2 Hi2tch
holiday.
(d) The speaker hopes to get several gifts on Valentine's
Day.

[Bh4]  afxk= LElEfo] Hiojofl 2= EAHS0| of £Z0| Zut MES AP| WR0]l s FUHH0|X| Qictn MZSiTt mhetM Azs A
0| SiCt2 k= (a)7t YHOICH S8t O|HIES 2h2 oF ofdel AIgiE AJlisin & Of HoXel MES slatr FeBR (b=
gol 2 4 gloh

[01Z]]  robotically 2220, 7I/xe2  shake something up ~= CithXoz Jifsisict  predictable Mz Lo[2tus OFF Zi= 5HX|

Ok
[y
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Practice Test

1. (b) 2.(d) 3.(d) 4. (b) 5. (a) 6. (c) 7.(c) 8. (c) 9. (b) 10. (d)

[Part V]
1 Now, as we all know, tigers and lions are both big cats, but OlH| 22| 25 AUCIAL| 20|19} AKtE 2 DYl 55
they are different species. However, it is possible for these o|X[2t M2 Cf2 ZQILct &tX[2t 0] & &0|
oto =1

two species to mate. If a male lion mates with a female tiger, = 72 JKssiLct 2o
they produce a liger. If a male tiger mates with a female lion, = 2 5i3 2l0[7Z 27 EUICh, $3 S0|7} AZIAKt &
A |
A

>=

a tigon is born. Now, for a long time, people believed that
these offspring were sterile, but actually female ligers and 7I1S0| 2UUA et LAX(BE ARE 247 2to] 7Lt

E
tigons can mate with male tigers or lions. While this has 2 7 SYO|L AKXt RIS & & JAGLCE 0
been done successfully, the resulting offspring usually have AEXoZ g7l WX[CH T ADE M7 AMlE BE Aztst
serious medical problems. ot 2HIE 247 St
Q: What is the lecture mainly about? Q: 0| Zolo| =5 Ljge?
(a) The mating habits of lions and tigers (a) AIXtet S2b0|Q] ®XI7| &2t
(b) Different hybrids lions and tigers produce (b) AtXIRE SZO7F 2 M2 CHE uhiE
(c) Health complications in lion-tiger hybrids (c) ARt SZ0| WHIBOIA| LIEHt= SIS
(d) Different species of big cats @) 2 Dol S=20| CjUst &

S0[QF ALKt mHiE EHOIL liger?t tigonO| Ollefat 2l SElE & 4 UXITH S&txel 2XIE 712l M7IE 2 o= 0]
2olo] Z= LHE0|ct liger?t tigonS hybrids2 HIFLO| & (b)7} AEo|ct,
[01Z]]  mate (520) mojsict  sterile 29|, A7IE 2 = offspring xtA, M7l complication &% hybrid &%

2 When we talk about electromagnetic radiation, what exactly Se7t TR SA0f tiell o7 o, F=ks| ololst= 40|
do we mean? Well, the best way to describe it is as a 7R a%s dYske 1Y 2 WE2 Fxiel s
stream of photons, massless particles traveling in a wave- At mE1 22 202 olsstn Yol 452 20|
like pattern and moving at light-speed. Now, each photon = 2 gl YXIYUCH OlX 2249l EXh= ol HE9|
contains a certain amount of energy. The only difference OlUXIE 24 Euct oSt EFQ TR SAEY 2Y
between the various types of electromagnetic radiation is 3t xfo|&MS ofiXx|e| MEtst olL|ch TafAl EMFoH o
the exact amount of energy. So the photons in radio waves el odxl= R, FxHmoMe & O =90, & &
have low energy, microwaves a bit more, and all the way up ~ DRNOIAf= J1EF 242 o HXIE X|GL|ct
to gamma rays, whose photons contain the most energy.

Q: What is the best title for the lecture? Q: 0] Zolo| 715 AUote H=L?
(a) Intense Energy in Gamma Rays (@) &ordel ZZst oilux|
(b) Energies in the Electromagnetic Spectrum (b) X7 | AHEZO| Of AX]
(c) Physical Properties of Photons (c) HXIel 221X EN
(d) Photons in Electromagnetic Radiation (d) TXE7| SAtI Q] HXF
[a14] ozl S2ist 01S0] ot oA AR + UAX|C XS F 2T F9| 77| E=CH OFX Y g2 18 4 Uk
“When we talk about electromagnetic radiation,~?" 1 “Well, the best way to describe it is as a stream of photons,~." 0|
M ZX7| BME 27| el ZXte] SO0l thell dHsirtn feaz FEE (d)olch
[012]]  electromagnetic ZxP|e|  radiation =AL %At photon #xt  massless 22 ¢l=  radio wave 241 xot
microwave =SxHt

3 Last year, the European Monitoring Center for Drugs and A0 R Dief & O1F S5 HAIE2 |EIML oot
Drugs Addiction examined some of the obstacles facing drug ~ ©hol Roi22 ZARISUICH AEM, ™ J2|n 2
control in Europe. While it is true that preventative strategies olz Ao| oflgt T2ko| TSt 22 AX|TH ot Yjaof
at social, educational, and health care levels are necessary, theh B8 Al =5t Lelch Sl olH ;Mg 5
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law enforcement aimed at drug traffickers is also necessary.
Unfortunately, the report found that some European nations
are less serious about this, and collaboration among these
countries has been ineffective and lacking. We all need to
work together to tackle this problem and reduce the two-
million problem drug users in Europe.

Q: Which statement best summarizes the report?

of Y2 7 AIIE2 ol EMES sl 2olS0Ix| &
I, 0 U2tE 2ol 3=Vt HIZEH0|n BECE AE
27 =USsUCL 221 2F= 0o ZHoll ohEAM FEof
UE 2442 HOl nfef SEXE 07| sl M= e2islof
gL,

(a) Drug trafficking in European nations is on the decline. (a) 97 2759 otet Unjae ZtAstn ot
(b) Drug trafficking can be fixed through preventative (b) OfSF LA ofizHe Eaff HIZ ZOFR £ QlCt
measures. (c) FEoll= A4St 2HE Yo7|= 4ot Hol ojef
(c) Europe has millions of drug traffickers causing serious ofao] Ut
problems. (d) 78 =7t52 Ofef Hols SHAZ7| 2ol &0 24
(d) European nations must cooperate more to stop drug- slfof Btct
trafficking.
[aia] SHEEOM o FxHel oo & 4 Tt “... collaboration among these countries has been ineffective and lacking.” 1t

“We all need to work together to tackle this problem ~."2 Sl R& =27t 7t9] 20| URsltts HE Y 4~ Yoz H
=2 (d)0ICt. (b)ofl TSt LiEO| AgE M2 UXIRH = LE0| ol 22 gol 2 = gich

[012]]  preventative ofete]  trafficker 224, 2ois  tackle Zekect MESICH

Now, a lot of you taking this class have grown up seeing the
same people serve in Congress for decades on end. But is
this really such a good idea? Many of these congressmen
basically become fixtures in local areas and stay in their
positions because they have no term limits. This prevents a
lot of good candidates with fresh ideas from getting into
Congress and actually keeping their promises. The President
may only serve two terms, and this makes him work harder
than Congress to accomplish his goals. This may not be such
a bad idea for Congress.

Q: What is the main point of the editorial?

(a) Congressmen can serve for a long time.
(b) Congressmen should have term limits.
(c) Congressmen only appeal to local areas.
(d) Congressmen should work harder.

0l 4942 E& O2E 5 B2 2S0| AP T2 AS
O 4 &) 13 SO AahA B0l Yot S B UL
LIck stxigt olztol 2% A B2 Mzeie? of 24
olpisel Mg4E 7| Agto] 87| W JlEsoR X|
SH0IAf 22 BIE|D XAl SAxlo) DiEA ELIC 013
Audst ofolciolg 1R ofef £2 FBE0| 2lslo] S0i7t
A AHZ TS| Of8S RI7l= 22 WakELICL oS
2 20| It K| 4 OIA K| SHS 0[27| 9
s SIRSEC o Tl Ysh ELICE ol o3I 93
A = L gzte ofd et

Q: 0] Aol F8 2He?

(@) RO QSO IS A 4 ct

(b) 2alo/22 27| Aizto| 2ofot st

() Rs/oIRI2 RiZolet EAE 4 Ut

(d) =slole of T3] Ushor Bt

[aia] =3oUE9| U0 FATteR Jtsot7| R0 A FES0| g0 TIEE 4 gtk St DHXIEHe| “The President may

only serve two terms, and this makes him work harder than Congress to accomplish his goals.”S Salf =23|9|= tHEH

1h Zo| 2] YLt k55 Sikk= Ao] 0] Al @X[o]ct,

[012]]  onend 7A%sliM, 2iZor Congressman =322 fixture T&E, @2 HEID Q= Al

It's burning up this summer, so come on down to the Wild
Time Water Park! We have two new attractions this year.
One’s the Anaconda Water slide, over a hundred feet high
with more than a dozen twists and turns. The other is the new
Rapids Waterfall drop. You can get a picture of your 50-foot-
free fall for just an extra 5 dollars. Not only that, but during
July children 12 and under get in for free! So cool off at Wild
Time Water Park.

Q: Which is correct according to the advertisement?

ol OIS0 HE HAXIR A=d|, Wid Time HEIIIEZ
=iMel Zdl= s0171F 271X1I7F Mz dAsUC o
Ltz OfLFZCH E &2i0|=2 100TE 0]49] =0[0]Af 12
H# oldel HIETIQF 20| AU LHA] SitE M22
25 2L Yol £7I2 5825 o WA Fulo] 50
0lE 4301 Hatoke ARRlE Zod 4 UgUch 22 of

[2F 124 olate] of2lol= 78 of E7t RRE 0|gY

oA
A/lt:ll-
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CH Wilf Time HEIIA0|M 2ERIE E2E2M
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(a) People can pay to get their pictures on the Waterfall Drop. (@ Zx 312
(b) There is an additional charge to ride the two new rides. (o)
(c) In July children get into the water park for five dollars. ()
(d) The water park has 12 new attractions this year. e},

(d) YEI=0I= 2ol 12712 2= =0(71717t QT

1o

R

i
rz

[814]  “You can get a picture of your 50-foot-free fall for just an extra 5 dollars.”S E3l (a)7} HHO|2t= A

EiX|o] Es=2 eigE Ho| 7Lt &t ch=rt,

=2 gt T

6 There’s been a new problem facing farmers in the American 0= 4% 252 M22 20| 2Hs AUsLich &
Southeast. It looks like more and more weeds are becoming o BHe gxIt 2e Mol MEAM H22 S2ZAl
resistant to the popular herbicide glyphosate. What makes O|E0] LiAO| M7|x QuELICE o] RxE 2 e
these weeds different is that they've been growing among = A2 FUMCZ HAE Az K0(ME 0[50 AR
genetically modified crops. Thus, many believe that the weeds = AYUct metM, Ee ARMER {TXoz xAtE
are quickly evolving because of the genetically engineered AlE 2ol =7 el Xskstn ok &L o]
plants. In a recent report on the matter, more diversity in Ao et 279 BuojM= 0 EXIE si&sty| sl
agricultural practices was encouraged to deal with the SZ0|A CHUE0| 2 A2d=/0foF St &LICH of
problem. This includes crop rotation, using a mix of herbicides, = 7|0z HM=xQ EE2S AlEsts |&a o HEst =
and just employing more precise farming techniques. Y 7l&2 Atst= A0l sEELICh
Q: According to the report, why are weeds becoming a Q: 0] &0l W2H of &EJF o 2 2M7t =1 =

greater problem? 77
(a) Weeds are being genetically mutated by a mix of (@) H=7t stet 2220 Qo REUMe2 HE=D Ct
chemicals. (o) s250| ol 4t M=EXE Aot UAX| UL,
(b) Farmers are not using a strong enough herbicide. (©) == o stetdR0l o Lol 47(a U,
(c) Weeds are becoming more resistant to certain chemicals. (d) 4 &2 f%l0| TZ0| =z Qct,
(d) Too much crop rotation is being practiced.

[cH&] 5 ") 2&2 “It looks like more and more weeds are becoming resistant to the popular herbicide glyphosate.”& S
T=7F U M=o LMol MHA s2EE0| ANstn Uchk= A2 Y 4 UCh popular herbicide glyphosateE certain
chemicals2 BHE0{ £ (c)7h HEolCH

[0{2]]  herbicide XEZX  glyphosate Sz|=A0|E(HER 420 YZE)  genetically R%%2=2  crop rotation 8%
mutate H3tA7|C

7 Hey, everyone, I'm Kim, and I'll be supervising your training 22 QHgtMR. M= Kimol2tk 5, o 22l
during this orientation. Since this is your first day on the job, | Ol =0t Ofp|2o| =S A= AU 252 A
figure that we'll start by introducing ourselves to one another. D2YH0|L M2 AJlsts Zio2 ARt gt 1 of
After that we can move onto company policy and our mission S A Mt ZFof chelf YotEm, 2l RAME Ef
statement, and then you'll get to fill out personality g2 JAolH, 238 2 XMojAl HEskiAe, HYe
guestionnaires and ask me any questions. Tomorrow we can ZFAl 2 SE27| A2 S3H 22 & O HMEXQ! NIRAL
get to the more technical details, like stocking, working the cash = &foi| CHall 20rE &Lt
register, and other stuff like that.

Q: Which of the following will be discussed tomorrow? Q: OZ & UY =2 Ae?
(a) The company’s mission statement (@ =lAr Z2d
(b) The personality questionnaire (o) Q1 =AM
(c) The operation of the cash register (€ 3t 57| &=
(

o
~
=
o

(d) The policy on personal appearance 2220f cheh &

[5H4]  “Tomorrow we can get ~, like stocking, working the cash register, and other stuff like that.”E &o
off sl HHRCH= AS & 4 QCh workingS operation22 B0 £ (0)7t HEOICL (a), (b= 25

2lslct  mission statement (slAf =%[0) 2 AlE questionnaire ZEALEL H2X|

[013]]  supervise Z=sich,

N

cash register 24 52
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In business news, AT&T has revealed that it will spend one
billion dollars toward upgrading its business network. This
will enhance services and products for both large global
companies and small U.S. firms. Such changes include
increasing U.S. broadband speeds up to 24 times and laying
additional undersea cables to help data flow to Europe and
Asia. The higher quality of services is expected to drive up
the price of AT&T stock. In fact, in premarket trading today,
company shares briefly jumped from $26.31 to $26.40 after
the announcement.

Q: Who would be most interested in this news story?

HIZLA FAMME, ATETAZE A HIERIS feAl
= O 10 €25 & A0[2ty Rths 7AS Tell=Eg
Ch. 0I2 Sall MAXRl o =lAtt 0= S4T85S 9
AH|ALE MZ0| ST AYUTH T2 Halzs 0= 1%
ClOlEf SAYL| =5 248|7IX] S7IAI7|1, K1 OfA|
Of= 7h= HlojE Sg8 =4%e oM 7oles F712 4
Rtz 0| metgEuUrh o &2 HO MHIAZE AT&TA 9
715 2012 Aol JithEuct, dM= 0] B= =0
s Y T A2HolM =lAel FAj0| 262 31HIEOIM
26022 J0HERZ FHA| SRUUSLICE

(a) Teachers would be most interested. (@) Hdg
(b) Technicians would be most interested. (b) 7|&xt
(c) Investors would be most interested. (c) EXX}
(d) Lawyers would be most interested. (d) HSAL
[aH&] = 2&9] “In business news, AT&T has revealed that ~"0lAl AT&T2| ARl Al2lof Chet EEE CE H|RALA FA2=E As
& 4 QUCE DFX|Efof Of ZIALS] FA0] FAl SHUACkE HEE &dll, FAKIS0| 2 #iS B 7ehs 2 & 4 JUes2 I
2 (o)olc

[01Z]]  broadband T#00lE 4% premarket trading 4% & 7424

Dear Global Comics Weekly, | must take issue with your
article about manga, or Japanese comics. You claim that
these comics are becoming popular in America because of
their superior quality. But many of them are produced too
quickly and sloppily. Their writers have to crank out about
twenty illustrated pages a week, so they don't even have
time to color them. Also, the stories suffer because the writer
doesn’'t have enough time to plan them out week to week.

Q: What is the speaker’s opinion of Japanese comics?

(a) Their art is original because it is not colored.
(b) Their quality is poor because they are rushed.
(c) They are better than American comics.

(d) They are not sold enough in America.

share 4]

Global Comics Weekly M|, &7t & L& 0OtstEHof| chst &f
Ao Z|Atofl chal ollE AM7IsHokzsLICH EAl2 o] Ttst
(o] PN

g
MSO0| Holdt 2 mzof oj=0ilM VIS =21 Aty #Y
St AFUICE SHRIZE 1 RtetAo] dEes R Wal a2
I Aot TEoifUc O ol A7iE2 US|
27t 5012 20H0[XIS Df 2HS01 LHOF SiA] ZAISE Al
URXL YEUCE AlC7E 271501 i 0[07 1 1™ &
et A0l 87| mhzoll e HE LT AU

Al
f=3
i
2

e
o
Rl
62
F\I’

[ai&] L2 Pt FHol e 7EX|a RAChk= JIAL0l Chslf 0|2 X|7[st o8 2 MX|2= Ho| EX| fith= (b)7H HEOoIch
[013]]  take issue with ~2f tHRISICE 01212 M7IGlct  sloppily M5 ¥R, thE  crank out ~2 7|AXMo=2 BtSct

suffer o Litthx|Ct, ofste|ct

In local news, Atlanta’s pollen count is still soaring, almost
reaching the city’s all-time high this morning. Today's count
was 5,733 particles of pollen per cubic meter of air, over
2,000 higher than last spring, and only 280 below our record
reading of 6,013 in 1999. Naturally, with all the dry weather,
clouds of pollen grains keep staining everything and
aggravating allergies. But if the forecast for Thursday is
accurate, there's relief on the horizon, and some of this
pollen is about to get washed away.

Q: What can be inferred from the report?

X% FAOME Atlanta®l 2712 437} OX15| 4550
20{ 25 OO ZAl] AN H1 7IZX/0f Aol Cictt
che a2 EEHE'“E!I-IEf os2 7l 5 1BY0E ¥ 2
712 YD 5734 7S RELICE 0f AR B Bt
2,00074 —L{z% 20|11 1999H=0l 7I=¢8t 6,013/ 2Lt A%
2807) W2 HRULCE, 2z Lulet Bl xj%is| U1
OfelSe BE % B2AV SISD U2IE Yoyl Y

i
=
n
Q'L
>
ra
I o
1

o
k0
10
1o

= 10
N
2
HT
S
o
o
_O'L
_\—|'_
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(a) The pollen count is at a record high. (@ 2712 47 A A1 7|20|C
(b) The pollen count is going to increase. (o) 2712 27t Z718 Zo|ct,

(c) Itis going to be windy on Thursday. (c) 22Yol= Higo| & Zo|ct,
(d) It is going to rain on Thursday. (d) E2ol= b7t = 2ol

[8i&]  DEXIEFQ| “Thursday is accurate, there's relief on the horizon, and some of this pollen is about to get washed away.

ol =Rl |7t 2Chk= L7|0E7t AUCHE XS & 4 ACH TRt FHEE2 (d)o]ck

=
[012]]  pollen count (B87I52) 2712 &  soaring xI&2, 445t=  all-time high AR 2/17|2  cubic meter XIS DIE|, HY0|E

aggravate 2stAl7|ct on the horizon ZZ0| E0{ 2 2ofg S5t
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EHo 5|

1, 43 2X| p.188

Exercise 1. (d) 2. (c) 3. (@) 4. (c)

1 Are you a rose enthusiast? Do you find yourself waiting all A2 EO| OHSTIULIZI? AS UL QTS LEre 33
winter for glossy, colorful catalogs to show up in your Sl 22 7I1920E JIc2|BN 2ol oE HE AS
mailbox so you know exactly what to plant for Spring? If so, b AFSIAILIR? OroF J2A|CtH  ZHAS ofotE EARA
then you might be interested in Texas A & M's rose- A&MO| EfO| Afjunt RMEH T2 30| A0l QoAAL|CEH
breeding and genetics program. Here we will help you take 07| M= Ghlo] Zojoll cish #alg oF Bl =Y 4 A=SE
your interest to the next level and teach you how to breed sicelm, galvtel ADlE ofg Muisk=xl JI2X=RIL
your own roses. No horticultural or even gardening C fofstolut AXlo] Helg 7H=A ZEol o= U
experience necessary — just curiosity and enthusiasm! oh 2% S7|da SFet e oo
Q: What is being advertised? Q: FnEX|n Y= A2?

(a) A university’s rose garden (@) Chstel ol He
(b) Catalogs for rose seeds (o) ol Xt 71E23
(c) A university’s spring courses () thatel 25t7] apy
(d) Classes on rose-breeding (d) Zol xHuf
[a14]  Z=HHEO| “If s0, then you might be interested in Texas A & M’s rose-breeding and genetics program.”S 3l 20| XHuHo]|
St N Z2 IS TSI Y= A2 Y 4 Ut w2t YE2 programE class2 HIFLO| £ (d)O|ct,
[012]]  genetics R%3  horticultural oi3te|

2 Are you tired of going through sheet after sheet of paper AXE ES HotH7| 2l o2f O B0| £ M= Hjol
towel just to clean up a spill? And what about those spots AZLANLR? T FHoll g2 feiolu 2xviele 2
and sticky stains that get left behind? Well, introducing new HE1R2? Xt MZE Soak-up Brand Absorbent TowelS
Soak-Up Brand Absorbent Towel! The special fibers in ATWBILICH 0] 270l E4 M7t S0 QoA 2T AF
these cloths are up to five times more absorbent than the o Z0|4 2t SHIZIX] E4:2{0] Fo{gfuct ALt of
leading brand paper towel. Plus, the special cloth will never E4 MeE Ho U20| XX YT, ¥ ooz EYS X2
stain, and you don't have to use special settings when you g eIt glEUCh 25 HIZ AlEs) MRl
throw it in the washing machine. Pick up one today!

Q: Which is correct about the product? Q: 0] &Z0 izt Lisez 82 A2
(a) It stains easily, but the stains wash out. () &7 Z=0| X|X|2t 22 Mojd 4 Utk
(b) It requires special settings when washed. (b) MIEfAl S =XV ER3Hd
(c) Itis more absorbent than paper towels. (€) 0| 712t E480| § &LF,
(d) It costs less than paper towels. (d) 0] A=CH MTh
[a§&]  “...five times more absorbent than the leading brand paper towel.”0flA E4 M2 BFS0ZI 0| 2712 215 0|2
PE SHIZIR| 40| HofLITHD Semz FHER (c)0|ch Hoi H=0] X|X| 41 MEIA| EE5H ZX7t HRsK| LBz (a),

b)= ol 2 + gict.

i
o
rr

[012]]  absorbent 3449| &4 =
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May | have your attention, please? To all seniors, please Qi 2 =AU BE dads2 2Y oldds
remember that your graduation rehearsal dinner will be this MAAMAPZE OfH = 429 XY 7A| 3020] QUcts XS
Wednesday evening at 7:30. You will be expected to wear 7ML, HANES UNE FX|2E MMt 2X2 7t
casual but appropriate attire. No T-shirts, shorts, or sandals, FFM0F BILICH EIMELL BHEX] MSE2 Dl FAL
please. Furthermore, anyone who hasn't paid their senior dues 2|1 AgM JHIZ LHX| L2 A2 1S5 U7t
must do so by next Monday, or they will not be allowed to walk x| Lf25(M0F 5t DX LS AR SYAl| At
during the graduation ceremony. Thank you, that is all. 2 SIGLICH OJAQULICE ZIARRILICE
Q: According to the announcement, what would prevent Q: ZX|of| w23 Aol SHAl| AAME 4 o= A
graduating seniors from participating in their graduation =7
ceremony? (@ 7Istix Ebig Uixl oL 22
(a) Not paying their senior dues by the due date (b) Z¢ ollgliols XAl FMGHX| 222 AR
(b) Not attending the graduation rehearsal dinner () ol&lRtE XHAAL Xt2jo] RAEGH RS Y2 42
(c) Dressing inappropriately during the rehearsal dinner (d) EA0 2R RS U2 B2
(d) Dressing inappropriately during the graduation ceremony

[6HiA4]  =BHE9| “Furthermore, anyone who hasn’t paid their senior dues ~ or they will not be allowed to walk during the
graduation ceremony.”S E5ff LIS F QUK E2YIHIE X Lo SHA 0 gﬁg 2 ot Ag & 4 Qeez
B2 (a)olct,

[012]] appropriate &Est  attire 2% x2lMl  due £+, 3l4f; XI2 7[sto] @

4 All right. Now we're passing by Glenn Bay, where most of the Z0t2. O|dl 22l&= Glenn M2 XILA € A, o] &
villagers here fish. It has an abundance of salmon, which is 019 tHEER ofglg §Lch of AX|gH HESt otz
the economic cornerstone of this small but prosperous coastal MM BV} 2= A Z26t HO{ULICE OIS )
settlement. Now, as we come further up the coastline, you'll 2t o 22tH FFSH Carlson 220| 2 ALICE 0]
see the famous Carlson Inn. This tiny little inn has been A2 o2 1800EHRE X0l AU, FESAE =
standing since the 1800s, and it is renowned the world over for  Ea1A A MAZQ HAS 1 U&Lct
its unique take on local cuisine.

Q: Which is correct according to the tour guide? Q: O] o4 2fLiiofl TSt LHBo 2 82 A7

(a) Carlson Inn is a global hotel chain. (a) Carlson S22 MAFQ! 2 Helo|ct,

(b) Carlson Inn was built three centuries ago. (b) Carlson S22 3A|7| Zof XIG{FCH

(c) The village at Glenn Bay relies on salmon. (c) Glenn 2Holl U= OF2E AH0f0ll SjEahAl A1 QUL
(d) Glenn Bay is the site of a large urban area. (d) Glenn 2t2 2 =A| X|HolCt,

[314]  “It has an abundance of salmon that is the economic cornerstone of this small but prosperous coastal settlement.”£%
aif HIO{ZIO0|7F O] OFS AIZSQ] £¥0l2k= AS Y 4 QlCth w2t economic cornerstone relies on@ 2 HILO| £ ()7t
Fgolck

[012]] abundance Z& %2 cornerstone 7|% E0f  prosperous HEGHE, 275t renowned RS, FAMU=  cuisine 221

2. RS o HIA|X|, Ohy Hba p.193

Exercise 1. (d) 2. (a) 3.(¢) 4. (a)

1 Welcome to Bank of Chicago’s automated response system. A7t 28o] Xts S5 AAHIY Al S SHATILICH
If you know the extension number you would like to reach, SSE Role WIMSE OMAEH XIg F24A2. XS
please enter it now. If you would like information about our 2dol =& XNF olgol et FEE stAH 18,
registered savings accounts, please press one. To access Mol Azt MHE RSIAIH 2HE S2FAAR, 7|Et
your account information, please press two. For all other E2OlE oA 0s S2 AL 02 MH|A EHIXtet
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enquiries, please press zero, or stay on the line while we

transfer you to a customer service representative.

Q: What should a caller do if they want to access their

account information?

(a) stay on the line
(b) press zero
(c) press one
(d) press two

[BH4]  oHYRUF MH|AL} QHAHSE &
Al (d)E €22 nE 4 ot
[012]]  extension number LiAEIS

eizs=

BlL SX 21 7|Ck2lA7] B

Q: HEIE 7 AJZ| A Azt HEE 5T 2912
a0 sH=rt?

(8) x| 91 it

(o) O 2ct

() 118 act

(d) o¢te =]

2510 o268l SQUCHH “To access your account information, please press two.”& E3if

customer service representative 1724 AH|A SHEXt

Attention: Due to the current rain storm, all flights from Incheon QM2 =2L|CE SAf L2|n U= ZERZ Q5 Q=
International Airport today have been canceled. Flights will be QI ZABEN ELot= ZE HIHO| FAZUASLICE
rescheduled when weather permits. Passengers wanting a SHW7F Z0FX|H B UXM0| CHA| & Z4QILct si2e
refund should go their airline’s customer service desk for A= SHES SZAF 12 MH|A MEZ TEM 3=
further instructions. Those passengers wanting to reschedule JHEQI MHE SoA|7| HIZILICH HIEH YMS CHA| &1
should return to the airport tomorrow at 6 AM. If the weather At SAlE SZHES LHY AlH BAJ0I SR CHA| 2
improves, new flight times will be posted at that time. AAIR, EM7F ZOHK|H T 22 HIg AlZto| SX|=
AYLCt
Q: What is correct according to the announcement? Q: 0] EX|9 Went Uxlst= H2?
(a) Refunds will be given at the customer service desk. (a) =2 TMH|A HAZO|M &liE Zio]Ct,
(b) Refunds will be given when the weather improves. (o) =2 M7t ZO0IX|H &liE Ao|ct,
(c) Flights will be rescheduled before refunds are given. (c) tlge =t=0| =7| FMof CHAl YAo| Fe Zo|ck
(d) Flights will resume tomorrow at 5 AM. (d) B2 LI A SAJ0f xHoHE Zdo|ct,
[a14]  “Passengers wanting a refund should go their airline’s customer service desk for further instructions.”S Sl SEF=
ABAL T MH|A MIEO|M 8ff &Ots XS o+~ UCH w2t HEE (a)olch
[012]]  reschedule CiA| @HE MRCH  resume CHAl ARKSICE RH7HSHCH

Hey, Tom. | was wondering if you got those notes from the
sales meeting yesterday. | seem to have misplaced mine, and |
just wanted to look over some of those figures they went over.
Oh, Eric wanted to know if he could borrow them, too. That is,
if you're not busy with them. Anyway, call me back whenever

you can. Bye.

Q: Why does the speaker need Tom’s notes?

(a) The speaker lent his notes to Eric.

(b) The speaker did not attend the meeting.
(c) The speaker has lost his own notes.

(d) The speaker took very poor notes.

il

[o1%]

“| seem to have misplaced mine, ~"S &dl

misplace (22 =1) Yozt

Lzt dizt

Arlet= ARt

3oolM HHAHA
=1
=

2
Erick slojze

LUK SSolA
xofn =,
HO0IM Z2f. of,
UEX| 21 2T 330, 32

Eel

Q: Gxk= of EAtel 2lo50] HREf?

(@) 2= 39| 2|91ES EricollZ| LAFC

(b) 2= 2ol EASHR| AT

(0 = AQ| 2l9ES UOHIFACE

(d) 2= 2IIE Mthz SfX| R3Uck
2O5S Yal3E 0|RE & 4 A= FEE (0ot
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Hello, Ms. Johnson. I'm just calling from Griffin Auto Repair JohnsonM|, 2ESIMR. 07I= Griffin X

to let you know that your vehicle is ready to pick up R, Estd I XASXE ZopH 4 Qtl= A2 Y
whenever you want. We changed the oil like you asked and TERiELICE UEok H2 2US AT, 2 22
did a quick point-by-point inspection of everything. Now, uh, SHAA ZARRSLICH LD AXX|] R2ZIX|2F 2tC]of o]

=]

o
ol

| don’t know if you were aware of this, but it's best to flush = 6712 ol 8t A N U2le o] 25U O
out your radiator every six months or so. That would be a A OF7Io| RIMH|E0| EL| B QUOA|H T3 FAAIQ,
little extra, so just call us back if you're interested. Have a Z2 51F BEUML
good day.
Q: What can be inferred from the telephone message? Q: M3} OAXIE Edff T2 £ Q= Z1e?
(a) The woman needs to flush her radiator. (@) Gixk= 2ICIOIOIEIZ Aof L ZeJt Qi
(b) The woman is not interested in car repair. (b) Xtz KESAt 4=2l0f 2ol giCt
(c) The woman cannot afford extra service. (© OXt= 7t MHlAS ZEE 04Kt SiCh
(d) The woman needs to change her oil. (d) tixt= 2Ys wNEY eIt ATk
[a§4]  “...it's best to flush out your radiator every six months or s0.”& Eslf 4XtQ| X=Xt 2tC[0f[0|Ef= Mo L2l X| 67H&l0] X|%t

the A € 4 ACL T2t FE2 (@)l

[012]]  point-by-point SiLIGHLIY  inspection HL ZAt  flush 4of LH2ICH  radiator 2iCIofolE, &y

3. %A, U o p.198

Exercise 1. (d) 2. (b) 3.(¢) 4. (d)

1 In other news: today a fire broke out at the local fire station S FAQYLICE @5 AYAMUIAN SHRi7H L6 HE0] 2
and consumed the building, but fortunately, no one was hurt. & EFHRIEGLICE GHX(2 CHEAZAIE BMXH= AASLICE
Police don’t suspect arson at this time. Rather, they think GAL Y52 oAMSIX|E Q4T HiAMAC| Zdtnt HEO| L
that the fire was the result of faulty wiring and old, flammable & 719N S2E=2 Qg aiX{7f LMt Zo2 B1 QG
building materials. The fire department was expected to LICH AHIME 26 M2 AlMZ2 2 ool ol
move into a new facility later this year anyway, but the cost Sixf mh2 Qs of Aol XERl0| A7 AbM 0|Fo0| ¢17|=
of the damage may hurt the fire department’s budget and S QLT
actually postpone this move.

Q: What is the main idea of the news story? Q: 0| A9 Z=x|=?
(a) The fire department was a victim of arson. (@) AdtA= Bisto] mIHAIACE
(b) The fire department was in an old building. (b) AtM= @elE HS0IACk
(c) The fire department is having budget problems. (0 AtM= oM EXIE 1 QUCk
(d) The fire station recently burned down. (0) AHM= 220 =of EHHFCE
[BHd]  Atd-AfD AAS BEsle RAMME & 2E0 FAH7F L0 “Today a fire broke out at the local fire station and
consumed the building,~.” 0l Al ABFAJO] SEXH7E LASIQICH= A8 & 4 ooz HER2 (d)o[ct &3tol| 2let Ard0] ot 2
2o iesz (@)= gol 2 4 elch
[013]] consume AZAI7|ct mtufgict  arson ¥E  wiring HiA  flammable 719i49| E17| 42
2

Time for your hourly traffic update. If you're going north on St AlZtoict FMellEal= nENEHQIL|CH 75
highway 75, watch out. There’s an accident backing up 2

traffic and closing off two lanes. Also, one exit ramp going Ql
west on highway 20 has been closed off due to construction. Lt
There is heavy smog in the metro area and some slight rain 7] . =F Folls 2A7to|
is expected a little later, so take extra caution when you're S0l 2
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driving this morning.

Q: Which is correct according to the report? Q: o= & 0] 2=9| 81 YXlsh= A2?
(a) Construction has closed off two lanes. (@) SAIZ Qlalf 27 xtMd0| HIA = ATk

(b) There is a traffic jam on highway 75. (b) 758 =20f wEEA7t UACH

(c) Heavy smog has caused traffic congestion. (©) 2 2HZ 2ol nE NES LoiRiCh
(d) Rain caused an accident on highway 20. (d) HIZ 2lsl 208 ==201M ALzt Lo

[314]  “If you're going north on highway 75, watch out. There’s an accident backing up traffic ~.”0{|Af 75/ =20 wSXA|7t QU
CHe A8 & 4 A28 2 FHEHS (b)0ICt, backing up trafficS traffic jamo2 HITL0{ £ (b)7+ HEo|Ct,
[012]]  congestion Lz, 1 &%

In an alarming top story, fifty students and faculty members at =8 FAMME Central 8t 9| st 50F 1t WZlE
Central Middle School tested positive for exposure to 0| 229 35 M AN Zalf Yy HSS Bt
tuberculosis during a recent public health screening. The = =22 7AS TeliSgLC 0] HAls 68 & &
testing was performed after two cases of the disease were 20| Zs XS g2 S TSRS LCH 02 A=o|
reported among sixth graders. After this development, the ShA =l S0f 0] o WAL o U SR M= A
school’s principal sent out a letter encouraging parents to get S 2US 4 JUE2 XHHE0| HAE B2 =25t H
their kids tested to prevent further cases. Nearly 360 people X2 sEaSH EHELCH 7ol 360Ee| AES0|
were tested on Friday and received their results on Monday. 20| HAEZ 2tn, 2o ZuE 2tsLICH

Q: Which is correct according to the report? Q 2 £ 0] Bx9| a1t Ux|sh= ZH4e?

(a) 50 sixth graders got their test results back Monday.
(b) The school’s principal made the students get tested.
(c) Testing began after two people were found to be sick.

(d) 360 people tested positive for tuberculosis. d = st Qb WS 2Rt
[314]  “The testing was performed after two cases of the disease ~."S S3lf (c)7t HEQ! Zg & 4 UCh 0| &wo WX s
2EOH HAE LeE Z2icle HAS ¢ AO|X| 2 StMS0| A He=S AJZ] 20| OfLEZ (b)= Eo| & - lch

|
[012]]  faculty w#%l  test positive 240z EH=Ct  tuberculosis 23  case S, Y4, Xt

Areas of rain and scattered thunderstorms will continue for the H|QF AEERO| QL oL dHinl LHQ EIAA ME X9

western half of Texas tonight and tomorrow. Severe ol Al&E ez BUct Mgt 2= OINEIX| 22X

thunderstorms are not expected, but some of the heavier oF o2 Br Ho| Uele s22 Qs ARl 247t

downpours could lead to some brief flooding. Some areas of o Ao QBLICH EHMA MEURN= Q5 H S0t

west central Texas could pick up one to two inches of rainfall 1~20IX[Q] HIZ} Ui2|A&LCH stedols ML Biot

through tonight. The weather will clear up on Tuesday, with X silo| Lt 7|20] 307K QEZSLICE 02 M
o

\
sunny skies and temperatures rising into the 30s. This weatheris = F27IX| X|&2 Zoz Ho|1, FHol= of7tel Hi

expected to last until the weekend, when light rain is expected. 7t ofAYEIL|CE

Q: What weather conditions can west central Texas expect Q: EQYUY| EIAA MESAUL0 LiEfE 7oz Hol=
on Saturday? M=

(a) scattered thunderstorms (@) AUEOl Z2

(b) sunshine and warm weather (o) BHE10| Lpxn whsEdt Ll

(c) brief flooding (©) LAXRI 34

(d) light rain (d) 2fztol H]

[6H&]  OFX|etel “This weather is expected to last until the weekend, when light rain is expected.”0| Al F=20f 2F7tQ] H|7t LHE A
olztn gleoz Mete (d)olct

[012]]  scattered 2%eixl Mxfsh Q= downpour 2% 52
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Exercise 1. (c) 2. (d) 3.(¢) 4. (b)

1 Here at the Museum of Women'’s Suffrage, we honor those O O ZHHE HsHuM 229 Helg 2l Med
pioneers who fought for our rights. Women'’s suffrage has a ARSI ZoE mEUCH O/=20iM 049 FEEe
long history in America. In 1848 at the Seneca Falls e AAE JHX|T JUELICE 1848 F Seneca Falls £3/0f
Convention, prominent activists like Elizabeth Cady Stanton Al Elizabeth Cady Stanton®} Lucretia Mottt 22 MY
and Lucretia Mott demanded that women receive the right to ot RS7IEE 0| ERE F2E 7K siEetn 2+
vote. Over the next 50 years, their efforts gained women SHELICH O CFS 50 S0 159 o2 HASES 4
numerous other rights and opportunities, but not voting e Of2 29t 7|38 YA UKD FHES X 2
rights. Finally, in 1920, the 19th Amendment gave women ELICE OFEL 192001, HIS Stantonzt Mott 25 4
the right to vote, though sadly neither Stanton nor Mott lived OlM XIFAEX= RX|DE S &H M 19XE Sdf oy
to see this. 2 ERES YA =pSLC
Q: What is the topic of the talk? Q: 0] 0|0f7|9] F=RI=?

(a) The life of Elizabeth Cady Stanton (a) Elizabeth Cady Stanton2| 2144
(b) The Seneca Falls Convention (b) Seneca Falls &3l
(c) The Women'’s Suffrage Movement (©) 0ol AXH 25
(d) The Nineteenth Amendment (@) &g 28 A 192
[BHa] ool RHAS Qe & Elizabeth Cady Stanton Lucretia Mottoll CH3H 0[0F7|5H0 Qoo 2 HER (c)olct.
[012]] suffrage F23 4713  prominent s st Nineteenth Amendment S 43 | 19% (0442] 23 2% =8

2 Now, we know that the population of the United States has At 2 3 Set o= ot SERckE Ae & ok
exploded in the past few years. But what led to this? Well, Lict SMIDJ O oI RAANR? £t 01 & oite
one major factor is the fertility rate. America averages over 2 SMEYLL, HRXo=2 ot ({8Y 2H oMQ| XAHHE Z
births per woman, its highest rate since 1971, and higher 1, 0142 1971 o[22 71E =2 H[80|H, F=, FHLiCh
than Britain, Canada, and Germany. The other major factoris  SYU=CiE o S&LUCH £ CHE Q012 0j=22Z9] 0[21¢)

immigration to America. Immigration has undergone a nearly
60 percent increase since 1990. As a result, post-1990
immigration has accounted for 61 percent of the population
growth over the 1990s.

Q: What is the title of the talk?

(a) Projections for U.S. Population Growth

(b) lllegal Immigration in the U.S.

(c) Changes in U.S. Immigration Rates

(d) Reasons for the Increase in U.S. Population

[6i4]  FHEEO| “But what led to this?’S Sl (22 Gt SH= 0(0F7|7F ‘O|= 217t 71| ROl o2t

2 (d)olct.
[012]]  explode 2Z5| &7taict Zesict  fertility rate E4tg

A110 Answer key

Lick, 19904 ofah= 0l2182 A2l 60% BIELC, Z
Mo 1990 0|22 0212 1990AHof LIEH 61%2
AT 5718 MR UL,

Q: of olof7|e] M=2?

(@) o= eI+ B7te] o=
(b) DI=0lMel =8 o2l
() ol= o[z st

(d) Ol= 25t S7tel el

[ o A
S %S Y 4 Yooz Y



One of the rarest and most unusual customs in the world is MAIIAM 7t =81 553 #& 3 stlbe Hoke
practiced among the Padaung tribe of Burma. This is neck- Padaung 2Z0lIM &lshX|n UCt 0|H2 =2 sel= A
stretching. Around the age of 5, select girls begin wearing O|C}, 54 20| | MEHEIS A4 2 Q0 242
metal rings around their neck, pushing their shoulders down Z0 oME 2 LHEW =0| ZELO} O ZA URES Bict
and making the neck appear up to over a foot longer. e 252 d2shIS, 01240] (2 o OLEEA 2o
Originally, this was done to make women appear more ShA HEHE H A fE35l21 sh= Z0IUCt £ 242
beautiful, so they thought, and thus to attract a husband more S J1E0| BE WA|GH= Z40(|RUCt SIXIEH XIZS S
easily. Also, the metal rings showed off a family’s wealth. 2OoE= Z{0| FE 0|R7t Hict
Now, though, it's primarily done to attract tourism.
Q: According to the report, which of the following is true? Q: 219| 40| wet cre = etz 7127
(a) The Padaung tribe has forbidden neck rings. (@) Padaung #Z&2 = &g XA
(b) All rich women in Burma once wore neck rings. (o) HiOte] ZE 2RT AXIEE o I 5 S 283t
(c) Neck rings in Burma are now worn mostly to make money. (o) HO0tQ] = 212 olx| 2 =2 7| sl A=23ict
(d) Women who wore neck rings had difficulty finding d) 2 22 =23t XIS JHS 3= o2i2S Y
husbands. ct.
[a14]  ofx|atel “Now, though, it's primarily done to attract tourism.”S Edff @5 & HotQ| 2 22 ZAMS QX[6H7| st & =
2 g7| et 2HOEM AEEHI= AS Y 4 UCh Wetd HE2 (0)olch
[012]]  show off wAlGiCH
The Scottish government recently implemented a plan to ATFEUC HEE T I ME ARE LSt of A
encourage people to speak Gaelic when conducting official ZE0| HUOE ARI=E Al AES ol LICh
government business. Gaelic, Scotland’s ancient original NYols L=HE F= 0jXe ATSHE 1rf =2f9f ¢
language before the English conquest, will also be promoted OZAN O R85 Mo ST} A/U0E QM= YAl 1
through more available language training, forms printed in 2l Y = AlYoE 34 39S izlecEM el
Gaelic, and the holding of public meetings in Gaelic when AQLch 3t M5 Eoxio] w2, AL AMEnt AU
desired. According to one government official, “It's in the AR} 49| Z7H= 2710 7H&t 2 BAIAIRILICE 91019
nation’s best interest to increase both the use of Gaelic and 2HI2 0[Het AIRE Allet= AS SsiMTt 222 AY
the number of Gaelic speakers. Only through encouraging 2 2l 2oz X7t 0liE Mg 4 ULt
appreciation and use of the language can we build a truly 2 gL ch
sustainable future for Gaelic.”
Q: What can be inferred from the report? Q: 0| HEZ E5f 2 4 Ql= 242?
(a) Most Scottish people have trouble with English. (@) tiF2e AFSUE AZSES Folol EXME 7HX|n
(b) Few Scottish people continue to speak Gaelic. Qlck.
(c) Gaelic is often used in international trading. (b) AYAE & AlBot= ATEUME A2 A9l QiCt
(d) The current Scottish government is unpopular. (€) ALAH= =H RN Xt AREICH
|

[6H4] ZFHl= ‘aplan to encourage people to speak Gaelic (HIY0{ &z HzH) 0 ATEUCE ARRS0| HOl AYUo=
AIZSHA| Pelhs A2 HEXez YTz FHE 00|tk AL AES Bl 7 BUE Al&sk= dl 27t AcIME

o

£ 34 Rzl =2ld Bloj0log (@)= ol E 4 it

ASH A
=2 T W

[012]]  implement +#5lct o5ict  sustainable x
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Exercise 1. (d) 2.(c) 3.(¢) 4. (b)

1 It's been more than 50 years since the publication of Chinua Chinua Achebe®| Things Fall Apart7t £7tEl 0|22 50
Achebe’s Things Fall Apart, and the novel is just as relevant & 0lAM0| B3, 0] AME MOZI HACHEOIL @5
today as it was when it was written. The novel describes in o= Est= olop|YLICE 0] AME Lio|X|zlote) &t E
detail the life and times of the leader in a native tribe in A 2= Zzo| At 1 AC), J2|1 Eielo] SAo| 19|
Nigeria, and how the arrival of whites leads to the destruction At 2SHE A mtlst=XIE MM 2Afstn A&
of his life and culture. It teaches us much about how LICE o] 2 Aizo7t Ch2 Liatol] 41 Qs EXTIS
colonialism dehumanizes the native people in other countries. S o=/ dIQIZSIAIZ|[=X(0l sl R HE 7i=2XE
As western governments continue to invade and conquer Ch MY 271=0| AlSsshA ® MAQl LiztSg Alekstn
nations across the world, we could all learn something from HEg0| et R 2E= 0|HCREE 2IIE Hig 4
this. A&

Q: What is the speaker’s main point? Q: 3xfel == @Fe?

(a) Chinua Achebe is a prominent African author. (a) Chinua Achebe= XSt S91 Z{7t0|ct,

(b) Western governments must stop invading nations. (b) MY 27152 =7} &2F2 SX([5Ho} sict,

(c) Things Fall Apart has interesting literary techniques. (c) Things Fall Aparttle S0|28 255 7|£0] Uct

(d) Things Fall Apart is a crucial novel for today’s world. (d) Things Fall Apart= o M0l &28t A40|C
[6iAd] = dHmj 2% “...just as relevant today as it was when it was written.” 7} OFX|2f 2%k9] “...we could all learn something from

this."2 Sall 3txk= 0] AH0| 254 R2|0I7= AlAS= H7F A0k 2S Yot of= 2 & 4= Ok Tt Y2 (d)olet,

[018]]  destruction o1 23 colonialism Al21x9]  dehumanize ¢17F4E 27| Sict prominent Ef2st Mt

2 In case you haven't heard the latest news, next year our local 2 RAE R So40H Y =el=d|, WE 22| XY
high school will require students to wear uniforms. Now, I've nEstu SMEL wES A=s|ok siLct 2o, A
heard of all the so-called benefits of wearing school uniforms. i5t= mE AR0| o|™ol| tis M7 E7|2= 20| &
They are supposed to reduce gang violence, make it harderto %M Z3d2 0151, 27| &7/= XS o oFA st
hide weapons, and just reduce tension among students. But SHME A0|Q] IS AMZ E0&Ctn gict Shx|2t
don't they also stifle the creativity and originality of students? WEL Lot shSo| Aolu SAMS AT G|
And won't it raise the cost of maintaining the school? OILIR? J2|1 Stw SAHIE 22X USHIR7? &X|5|
Honestly, this is something we should reconsider. 0| 2Xll= CrAl XH12BHEOF Sh= AL
Q: What is the speaker mainly doing? Q: SAPF Lot Qe HE2?

(a) Explaining the problem of violence in schools (@) stu == 2XE 49
(b) Suggesting a design for new school uniforms (b) MZ2 w59 CIXIRIS HQF
(c) Arguing against the use of school uniforms (c) = =0 i3 By A
(d) Reporting on a change in high school policy (d) nSat Z #Hatof ofet 21

[H&]  DFX|2fel But CHZ0ll 0|01Xl= LIE0| 2txi7t o] HHER0IM FstiAt otz QX|0IC) wE A& 2HE Mus Fets A2 CHA

Ysl|, w= A v = 20192 MY (c)olct
[01g]]  stifle 2 9ict, ottt originality S&4, HOIE
3 Okay, class, today we're looking at predestination. As you Z0I2 OE, 252 2Y ool tishM d 2=

may know, John Calvin, a 16th century French theologian SIELICH of2i2z LAXITH 16M7] TFA ASR}RI
John Calvin argued that God had selected a few select people  John Calvin 40| =02 Zt 4 Ql= HTHO| AMEef dF
to go to Heaven, and everyone else was doomed. There was 2 AIMES Z3Ctn FERSLICE J2|1 T2 2E A
nothing anyone could do to know his fate or change it. Can LSS Moof HRE, AHNel 2B UL OAHS HiR
you imagine what it would be like to actually believe in this? 7] Qe ARHE0] B 4 Qe A2 O U= GUSLICE
To constantly worry that you wouldn't be saved and there was ~ AX|2 0[24S TECHHE G ZleX| AMs 4 Q&L

A112 Answer key



nothing you could do? Obviously, there’s a reason why this is 717 DA TEEX| RE Z0ln G0 & 4 U= A0]
so controversial. OfF A= gltte AS EYJM0| Asks 77 gHlsh
0[Z0] OFF =2tel o4X|7} U= 0IR7F UELICH
Q: What is the speaker’s opinion about predestination? Q: 2% ofZHol 2t stxtel ofHAS?
(a) The speaker thinks that it is not well understood. (@) & olsiElct MZISHR| e=Ct
(b) The speaker believes it is an important part of religion. (o) Zmo| 526t R4actn ghert
(c) The speaker thinks that it is a ridiculous belief. (©) HRLSlE 230latn Mzistct
(d) The speaker believes that it should not be ignored. (d) RAIE{™MME otelctn 2lect
[a14]  obx|=tel “Obviously, there’s a reason why this is so controversial.”iA] 23 OIHAS =2t §X[7t UCt Mt w2t 3t
K= 2% ool tholl 25X ozig 21 Aes2 FHE ()o|ct,
[01Z]]  predestination 2% o184 4%  theologian 45Xt  doomed E&%t

| did my book report about themes in the novel Jane Eyre by K= Charlotte Bronte2| A4 Jan Eyre©| Z=H0f el 2f
Charlotte Bronté. One of the most important aspects of the RS AEUd o Mol 71y Eeot HH 9| ofte =
book is how the heroine, Jane, finds her way in 19th century Q1Z2! Janel| (S0l B2 MEHEO| QAT 19M17]
Britain, where women didn’t have many options. Jane rejects AZOA RIS ZS oA FOpteLt st= ZHYLICH
the hypocritical religion of one character, and she also refuses  Jane2 ot S& 2129| YMZQI MEE HESI1, E5t A}
a romantic relationship in which she will not be treated as an Al0| S53 AlRfoR thiEEX| 2at ool Az HHE
equal. These choices can be traced to some opinions that the BHCH O MEHSS Zp717 Mol Ao sl 7Kz Ql
author held regarding gender relations. QIH oJASE BoFE A0l2t & 4 UBLIC
Q: What will most likely be discussed next? Q: 0] CI20] =C|E LiRo= JIAF MEs 2427
(a) The plot of Jane Eyre (@) Jane Eyre2| &712]
(b) The author’s personal beliefs (o) Z7tef ZHRI=Rl A
(c) The speaker is opinion of the novel () AAof| CHBE StRte| o] 74
(d) Religion in 19th century England (d) 19M17] g=2| =

[si&]  ofx|2kel “...some opinions that the author held regarding gender relations.”E Sdlf 422 001X L2 Mol 7 of i

E7te oA, & Zptel Al olaks AE Y 4 Ut watd HE (b)olct,
[012]]  hypocritical ¢4l plot £712|
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Exercise 1. (b) 2. (c) 3.(¢) 4. (a)

1 In Texas, there has been a big discussion about how we can HESH SXIYS suEoz AlRsHs giol fst IEZ
use our scarce water resources effectively. Well, with a few 0] EIAIAOIA Ei&LcH 7St & J1x| ohAl2 Ax|H
simple steps, we can fix this problem. It's important that Texas 0| 2HZE HIZES 4 USHR. T2 W2 HIALANM
cities set up a pricing system that charges you less for using S22 s1oR 9 ARFIS 1= 222 FoiFxT, 1|
water efficiently and more for not doing this. Cities should also =~ %2 Z0l= O Eulst= @F AIAE 9HSUCH= AL
implement five or ten year plans for water conservation as well  Cf, TAISS #2| 2Mof| =5t XF22 M2soF & ot
as adequately fund their conservation departments. Finally, ofLzt 2 BHE st 5 LA 108 AES oldsHor &
small steps like using high-efficiency toilets and restricting the Lct oixjgtez2 158 HIIE AkEstn, Tir|go| 237|
watering of lawns can save thousands of gallons. S Hletsle At 22 A2 ZAPE M A 2 HY

g 4 AsUT
Q: What is the discussion mainly about? Q: 0| =9|9| == LgS?
(a) Statistics on water waste in Texas cities (@) EIAtAS] 2 AH| E7
(b) Improving water efficiency in Texas cities (b) BIAIA =AQ] & &8Y M
(c) The use of water-efficient toilets in Texas () ElAAS] EEX0I 2 AH| HI| AE
(d) The cost of water usage in Texas (d) BARAS] 2 AL HIE
[614] = 29| “In Texas, ~ about how we can use our scarce water resources effectively.”S Edlf E29| Fx7t ‘B&6t SXH
2 fUXeZ AfSolz W ol2ke A8 & 4 ATk W2t FEE2 (b)oIct, 22 s8Xe2 Mz B0 tiEt g2 AU
= S fIoh of WY & FAPL =Vjols REXC! WE0IBE (o= Hol 2 4 glth
[0f2]]  scarce %% 2528t implement ol5ich 4ai5tct

2 Rabbits may be cute animals, but they are also a big EVle HO S2UXE Z2AX|P ot 2 20| 1
responsibility and require a serious commitment. They tend A SIMS T2 St E7ls EEah Aol JHE &
to sleep during the night and day, being most active during SX0|o, g & SOF HMS K= deo| UELICL Evl=
dusk and dawn. Rabbits also need regular interaction with &5t Aot @RS HEIE RXIsty| flal Ghla H1H
you to stay healthy and happy, and they should get at least Ol M=g Wo= 5l AASH IR0 o Al 22| HpZ
one hour a day out of their cages. Rabbits also need fresh O UQof LT £ OHY AlMSH OFx7t ERstn, E7)
vegetables every day, and their cages should be completely o] 2a|= Uxo| SHH OFF HIeHA XIYFloF FhLiCh
cleaned out once a week.

Q: What is the talk mainly about? Q: o olot7|o] =& L§8R?
(a) How to design a rabbit cage (8) E7] 2|5 CIXIQlok= 8
(b) What to feed rabbits (b) E7719] =Ho|
(c) How to care for rabbits ) E7E sE= YUY
(d) Why rabbits sleep most of the day (d) E717t 5tR2| LR St Xh= 0I%
[sHa] A 2%o] “...a big responsibility and require a serious commitment.”£ Es5ff ‘E7|2 AIRst7| st =1 7F T Ae &
o Aeoz HE2 (o)olh,
3

Now, when we discuss the world’s largest trees, we have to

take a look at the sequoia, or Coast Redwoods, over on

America’s West Coast. These enormous trees are evergreens

that can grow up to over 380 feet in height and 26 feet at the
thickest part of the trunk. Their bark is also very thick, up to a
foot. These trees are also very old, many of them being well

A114  Answer key

MIAAIM 7He 2 URE =2 o, olF 2= o= M2
sitoll A At2k= MIFH0lor E= slieh MLURE =2l= 0]
LTS DE{siol2t giLch of Atigh L=
380UE GAl Xt 4 U1, 589 T
26UEZA| LgUDh LHRZEE e F
X =7|= g Eot o] URs 5| =M M0



over 2,000 years old.

Q: Which is correct about Coast Redwoods according to
the lecture?

(a) They are over 2,000 feet high.

(b) They can be up to 26 meters thick.
(c) Many are over two millennia old.
(d) The bark is usually 26 inches thick.

0fo] Al 2000A0] HHAME ZAZEEH |}

O
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finl

& ofieh LRl sl Zolol Enh YXisk=s
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%ﬂ Hif
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0[7F 2,000T|E7} E=Ct,
J|7}26|3\E177% | 2+ ATk
5= 2,00040] HALC

d) LR FHP7E 2 2621/0]ITt,
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[3H4]  DFXI2O| “These trees are also very old, many of them being well over 2,000 years old.” 0|l A &S4=7t 2 00040| Elct=

Zg & £ qlot 2,000 years oldE two millennia old2 B2

feet0|22 (o}= 0| 4 QiCt

[0{2]]  trunk 42l 25  millennia millennium (& 7ho| 245

& (c)7t Fyolt. alieh YLIRO| Fil= 26m7t ofu2t 26

4 Now, you've probably seen these little numbers on plastic Olx| oeiE2 222 8701 20iRle oA 29l X
containers, right inside the recycling triangle. These are 22013 HIZ OZZ0|M 0] 22 KAISS BA £ g &
called resin ID numbers, and they let you know what kind of LIct O] RAIE2 FAM4X| ol 2AF 2t 22|2=d|, 0|
plastic is used in the container. The advantage of using these Ag Sl 8718 M= o 572 E2tAE0| M=
numbers is that it lets you know whether and how to recycle x| & & AGULCE 0] RASS AZHCZM 024Z20] A
these different containers, depending on where you live. = X0l w2t 2t 87152 MMERE ZAIX| 2|1 o{E |
That's why it's important to know exactly which substances e ZIXIE & 4 QaLch of 2o of 20|
correspond with which numbers. o ==Xjoll SHE==XIE Hets| Ok= A0l S
Q: What will most likely be discussed next? Q: 0] C}30il =2 8oz JHa Y2 A2?

(a) The plastics identified by resin ID numbers (@) B4R 201 Xt of YUR|ohE E2tAE
(b) The disadvantages of using resin ID numbers (b) BALX| B £XF AIRO| SHE
(c) Places where plastics can be recycled (© BetAE0| MHEE 4 Us A
(d) The history of recycling plastic materials (d) ZetAE 8O At
[ai&]  Ofx|2kel “That's why it’s important to know exactly which substances correspond with which numbers.”S 53l &4 4
x| Bl =&t o 10| siYsk= E2tAE ME0| FAQUXof s Yoz U & HS L 4 Ut me2tM correspond withS
identified 2 HHEO{ £ ()7t HEolCh,
[012]]  resin &4 4x]
. 0 T
2. 7I;|7°I- _|'6_'I-, 7|E p.218
Exercise 1. (a) 2. (c) 3.(c) 4. (b)
[Part IV]
1 Good news for consumers in China: Apple is working on Z32 AH|XISOIA §AA0] UBLICH OHEAZL =Clof

finally bringing a Wi-Fi version of the iPhone™. Though the
iPhone™ arrived in October, the country’s regulations
prohibited the sale of Wi-Fi devices that don’t meet the
country’s own wireless standards. As a result, all iPhones
sold in China have Wi-Fi disabled. However, a recent
relaxation of rules may make way for iPhones. While no
launch date has been set, users of current iPhones that lack
Wi-Fi may be compensated, possibly by being given greater
access to the 3G network.

iPhone™2| Wi-Fi HZlg S0{27] fla Zeisolztn i
Ch iPhone™2 100l 027! FX|et =71 7ol <lsl
=9 2M 4 7ol WX L= Wi-Fi ZX|Q Toft F
A|&UCH Z2ode2 S=0IM HHolE 2E iPhone™0llAl
= Wi-Fig 0188 & QlgLICt ofX[gt 229 wA| &tstz
iPhone™ofiA| Zo| €2 £ &

X2 X Wi-Fizh FAE[0] K| Y= iPhone™ AIBAIE S
ofote 3GUIERZO0N it of 2t Hads RoEse
2M Olofl thet 2MS Bre 4 QIEX| BELUCH

= gLt A2 FallXIX| 22t
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Q: What is the report mainly about?
(a) iPhones with Wi-Fi in China

(b) China’s wireless standards

(c) Wi-Fi technology in iPhones

(d) Access to 3G networks

Q

O B1o| & LI8=2?

=1
[kt

OllAfS] Wi-Fi LH&
SHENEREE

(@)
(o)
(c) iPhone™L{0f Al Wi-Fi 71&
(d) 3G UIEX3 T

iPhone™

o

ot

[14] XS F 2% “Good news for consumers in China. Apple is working on finally bringing a Wi-Fi version of the iPhone™.” 0| A{
B9 FHE & 4 U}, matd FEE2 (@)olct,
[012]]  relaxation ZZ, 23t
2 We all know how vital calcium is for maintaining strong bones 22l Z&0| EES HQ} X012 SX|oh=d| Yol &2
and teeth. However, it is important to eat plenty of foods rich SIX| L1 ASLICE SR ZE2 SN BHE0XIX] 227]
in calcium, because calcium is not made by the body. In fact, 20| Z+&0| 2588t 242 0| He 20| SQEHct
it is lost every day in the dead cells of our skin, nails, and hair,  AtA Z&2 229 IR &5 H2|71219] Z2 M=o} Al
and in the body’s waste products. Because most calcium is H CHSS Sl oY wd LIZLCH CHREe 24 i
stored in our skeletons, the body leaches calcium for many ool ME=lof U7| W20l 2| B2 ol UojLi= &
processes from the bones. That's why bones become brittle if © MWHES Qo Z&2 ZadUC olxo| HiZ 2|7t
we don't ingest enough calcium-rich foods. ZE0| ST A2 SEo| HFIoHK| LT It ofslix]
= OlFLICh
Q: Which of the following is correct according to the
lecture? Q: s & 499 g Yxlots A7
(a) Most calcium is produced in the skeleton. (@) CHR22| Z&2 ol M MdEch
(b) People lose more calcium through hair than through (b) MRS wHD of2|7l2e S8l O U 248 o
sweat. ==
(c) People must replace lost calcium with calcium in their (€) AIHELS Aojn{2l ZaS SAS =3l thr|shot Sict
food. (d) ciR&e Zee n, o2zt a2ln &850 MY
(d) Most calcium is stored in the skin, hair, and nails. 0f Uk,
[5H4]  OFX|etel “...if we don't ingest enough calcium-rich foods.”S S5f Z&2 SAZE2 SoilM g5 ¢ s A L 4+ U
ooz HY2 (c)olct
[012]]  waste product =HiE  skeleton tith ZZ  leach 72Ct, ofaisict  brittle 7HXI7| +2, 2AXI7| 42 ingest ©FGICE =
Salct
3 Are you suffering from the pain of carpal tunnel syndrome? If AL 22T IS0z nEED QAL BHeF Ot
so, please be aware of the possible causes of this potentially o AEE 2FSiA| 7= ERIEQ! JHsEE |IQISof sl ot
debilitating condition. The primary cause of carpal tunnel SAI7| LI 228 5579 £ |12 To| o Al
syndrome is pressure on the median nerve in your arm. Only 20l 7teliX|= Qi=QILIct olAfato] 22i0] AlZo e
a doctor can determine what is putting pressure on the FE AUX| FHY £ UBUDH HEH S22 Zof, YA
nerve. Arthritis, hormonal disorders, fluid retention during FO| M OA MALE HIFAXQI HUlE MXMZ0| 0] 3=
pregnancy, or abnormal protein deposits can cause this. Of o2 Yozl 4 QALICL B2 &8 HEXMZ FHI|1 31E
course, repetitive flexing and extending of tendons in the 2 s2l7l= Xo| #elol & £ Ax, E= AP0 HX| g
hand can be the culprit, or the nerve may just be cramped. 2 Yo7l AY & UBL
Q: What is the main cause of carpal tunnel syndrome? Q: 22T Z539| J1& 2 |o1e?
(a) Arthritis (@) &=4
(b) Hormonal imbalances in the body (b) AAS 522 &0
(c) Pressure on the median nerve (c) 3Y Aol cHah =
(d) Weakened tendons (d) 2falizl gl
[6#4]  “The primary cause of carpal tunnel syndrome is pressure on the median nerve in your arm.”2 £dfl £22 35729 ¢
2 QOIS 7kt Fo #0l0] 3Y AlZol 7iehAl= Y=olzle Ade & 4 Aesz HHR (ool
[0{2]]  carpal tunnel syndrome =2 %=  debilitate 25t sict  median 572 3¥9|  arthritis 2
retention O[& Hx|  flex 722/t +=AI7Ict  tendon &&  culprit 2xl9 #°!  cramp Zzig Yot
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Results from a five-year study show that taking acyclovir, a
medicine used to treat herpes, doesn’t reduce the risk of
transmitting HIV-AIDS. In this recent study, 3,400 African
couples were given the drug and a placebo to see if acyclovir
would significantly reduce the sexual transmission of HIV from
the infected partner to the non-infected partner. Acyclovir did
not prevent many more infections than the placebo. Based on
the medication’s affect on HIV levels in the blood and genital
tract, scientists had hoped it would reduce HIV transmissions
as well.

Q: What can be inferred from the study results?

(a) The placebo prevented more HIV infections.
(b) Herpes medicine helps lower HIV levels.

(c) The drug does not effectively treat herpes.
(d) HIV is transmitted more often than herpes.

o2 CISFE80IS0| Tot oAl =E 4 AKX oleFEofol ¢

on the medication’s affect on HIV levels in

[at&]

transmissions as well.”&
B2 (b)olct,
herpes Zxl  transmit $7Ict, HYAIZ|CH

genital 4179

Solf L 20| HIV MPES UOFAl= REIAIRE HIV RIS HHED

placebo @l YA fot  infected 2l

5Pzt 2l of A0l 2H XS X|Zsh| Pl AR
= acyclovir® 2&35t= Z0| HIV &, 0fl0|= Hfo[2{A
9| atg WXz Rt Sit) o] 29| S+t
A, acyclovir7t &AMl of0|=x ZHEXZFE HIZHXIO
Al 0ll0]= Hio|AT} HH = WS XAl HANT =X
£ Ea2{1 340089 otZe|7t FI4S0iA 0] et ez
S0}, acyclovire IRt M o B2 Z4ES 2ot
UiXl= Z30Ch 0] =20l CHEH Flut MAIZIO] HIV 4|
IEE JIEeE MSIXISE 0| U=0| HIV 4= dAA
AZE 2402t YAACE

Q: 0] A7t AWREE FEY £ U= W27

0fX|2to] “Based

it

the blood and genltal tract, scientists had hoped it would reduce HIV
le ZES U2 4 Yoz

medication %2
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Practice Test

1. (a) 2.(c) 3.(d) 4. (a) 5. (b) 6. (b) 7. (a) 8. (d) 9. (d) 10. (c)
[Part V]

1 Have you ever heard of a “pardner?” No? Well, it's a popular = “pardner’zt= %S S0E X U&U7I? glctue? oA
Jamaican custom of saving money outside of banks. Here's o doflM =2 XIS 4 U= AHo|7Ie) 217 1UE E&
how it works. Say eight individuals want to save up some LicH HHEH2 osu 5L 839 AH0| LIS 2l
money for later. They become “pardners,” or partners, and orZtol =2 xX|EstZ st SAICH 0152 “pardner”
agree to save a certain amount for a time — say, a thousand = partner7t 1, Lol ofztel = 0|2 1,000
dollars a week. Each one will set aside a thousand dollars g2iE ot 2or(=2 ok 2t A2 oiF 100052
each week and give it to a member who acts as the group’s £ =2 7l 1 ZAoM 2 AYZ ot= ARZoIA
banker. Every week, this banker will give the weekly sum to 1 =2 FLUoh 321 8% & 242t9| “pardner”7t 8,000
a single pardner, until after 8 weeks each “pardner” has el &2 W7iX] ofF 0] S0 YFY S 22 =
received $8,000 at some point. 2 ¢t FOf “pardner”oil7f| FLICH,

Q: What is the discussion mainly about? Q: 0] =29 & LL?
(a) A Jamaican alternative to banks (@) Atolo|7rel = CHor
(b) Various customs in Jamaica (o) Ztflo|7te] CHtet S&
(c) A profitable Jamaican tourist attraction (c) Rlst Atdol7te) 2 HA
(d) Different banks in Jamaica (d) Xtojo|7te] Crefet 23
[ai&]  XMEHR29l “Well, it’s a popular Jamaican custom of saving money outside of banks. Here’s how it works.”& Eaff 22|Lt2t
O A2t fARH XiH0|7e] ‘pardner’Zh= Z&0| MO AE & £ QL) m2bM saving money outside of banksZ
alternative to banks2 H}L0{| £ (a)7} HEO|C,
[012]]  pardner x|, &2  set aside #7=Ct  profitable {28 Y= tivt g

2 You know, people often ask me who my favorite poetis, and = ARZS2 Mol 71& £0tsts AIQI0] F7L At 22
if | had to pick one, I'd say E. E. Cummings. Cummings was st o B2 Z2lof $IttH A= E. E. Cummings2h
not only one of the most influential poets of the 20" century, SIAELCEL Cummings= 201719 7HY FE=l= AlRIY
but also the most original. He experimented greatly with @0 ofat ke =FHoIE guch 2= g4, 7A5Y,
form, punctuation, spelling, and syntax, and this elicited X 02|l PREE VKD E2 Asg M o HE
different responses from critics and readers. Some praised 2 HIZIet SXISR2RE CHfst 828 0|ZoW&LICt of
his daring new style; others criticized him for not eventually H AIMES 19| Mt M2 HAS AT T2 Al
evolving it. Nonetheless, there was no mistaking his stylish S2 7t 2= 3 gAg AKX 2tk OlR2 HIE
work. FELCH Jol= S7eln, 19| AE2 &4s| Xt
Q: What is the main idea of the article? Q: 0] 7|AfS] 2X|= FAI}?

(a) E.E. Cummings wrote a lot of poetry. (@) E. E. Cummings= %2 AIE At
(b) E.E. Cummings was not very popular. (b) E. E. Cummings= 21717+ BX| 2UTh
(c) E.E. Cummings was a unigue poet. (c) E. E. Cummings= =53t Al2lo|ct
(d) Modern poetry is very strange. (d) ¥ Al= OF Ol&aict,
[aH&]  SkXk= ARAO| 7HY Z0fetk= AIRIQ! E. E. Cummings2l S&A0|10 AXQI 2 AEI0] Cis Ol0p7|ot Qle=z HE2
(c)olct. XI22] “...the most original.”, “...his daring new style.”2 Sl &4l HES &S 4 UCh
[0f2]]  punctuation 758 syntax 722 elicit 0130 Litt  daring tigs!, 825t there’s no mistaking ~2 SZSIC), SHAkGHC

3 In a major medical breakthrough, researchers at Ohio State 9 olst & & SiLIZ, Ohio &8 Cisfe] ARXE2 &
University have taken a drug used to treat diabetes and H X|20| MOl= 422 EX AMEE H0l=0 AR5}
modified it to kill certain cancer cells. Cancer cells grow so 7| 95l HEAZISLICH YMESS LS wa| Xj2p 22 &
fast that they eventually use up all available oxygen from oM Feole BE AR Jhstt MAS MHZLCH 22
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their blood supply, and they adapt by feeding off more sugar 1O g2 920 o X2 MAS HomM M2 §iL
and less oxygen. Thus, the drug works by preventing sugar C} m2tM 0] =2 H20| LMo S0V At &
from entering cancer cells and suppressing their ability to use M=t GBS 0l8st2in o= &g dMge=z=M st
sugar, so the cells begin eating themselves. This new drug is S 9 £ Z= UMEs I RIS HI| ARSI
shown to be ten times more effective than the drug it was L}, O] 22 A4=2 =22 A0|E A= 108 o StA
derived from. Ql Aoz Heluct
Q: What is the main point of the article? Q: 0] 7IAte] @X=?
(a) Cancer cells adapt to losing sugar by consuming more (@) YMEE o 2 MAE AHFO2ZM FES U=
oxygen. 2401 =S3HCk
(b) Cancer cells are so deadly because they grow very quickly.  (b) YAZE= 0fF 2| Xj2ick= HojlA i XIHEo|ct
(c) A new medicine is being used to treat both diabetes and () M22 o2 Yt &2 XZ2sted AfgEa Qlrt,
cancer. @) M22 242 LMz G2 55 SHAIZESZM
(d) A new medicine works by cutting off sugar from cancer cells. AgS ol
[aiA]  AloF Jhetofl &St 7|At2 “Thus, the drug works by preventing sugar from entering cancer cells ~."S Sdlf x|z |25 &
2= Qltt makA preventing sugar from entering cancer cellsE cutting off sugar from cancer cells2 HF20{ £ (d)7+ HEFolCt

[of

Jor

] breakthrough 2 2%, A 27

If you see black spots on a tomato plant, then you may have a
fungal infection that could wipe out more of your crops. Cool,
wet weather will create the ideal conditions for such infections,
and these are difficult to control with insecticide. In addition to
the black spots, you can detect such an infection by spotting
fungus gnats, which search out plant fungus to lay their eggs
in. The best way to prevent such an infection is to use
disease-resistant plants and avoid environmental conditions

that promote fungal infections.

diabetes 2=

Q: What is the best title for this discussion?

(a) How to Deal with Tomato Fungus

(b) The Breeding Habits of Fungus Gnats
(c) How to Grow Healthy Tomato Plants
(d) The Interaction of Fungi with Plants
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[6i4] E0tEo| M7= o ZHol| thall S £ FHHEO| o/ (the best way to prevent such an infection)ofl CHsl 241 Qe
o= FHZ @OIch (b)2l 0| e A2 AROIXEE 2EXQI 8oz A7t S5MS YslnAt sh= A0| OO, ()=
HF detststo] gol & 4 8
[012]]  fungus #& S%o|  wipe out Ttusict =0lct  insecticide A&X  spot & Aothct, £745ict  fungus gnat SHolzict
For years, people have debated about the pros and cons of £ | =0t ARIS2 271 20| BHE w0l sl Sat A
bilingual education. A recent study shows that we may have oil 2ot =0lE AlLsigtELct 229l o dv= 227t
been making a mountain out of a molehill. Researchers at a1 s FAashisitss BoFEn AFULCE Johns
Johns Hopkins University recently wrapped up a five year Hopkins CH&te| ARXISE A0 670 Z2Sstwe| Al
study of Spanish-speaking students in six elementary schools. OI01E Al23l= SMMSS CiMoz Sh= 5UE7te] HRE
The students were divided into two types of classes. In one, S0ELCH SHME2 2719 3802 LIHXAM st
students underwent a gradual transition from Spanish to both SIS oot WX AHQIo{ollA AmQloet Hoi=
Spanish and English by the fifth grade. In the other, students MMz Mete= u's desLch o2 ot & stds
were only taught in English. The conclusion? Neither method 2 o=ttt uss YoIGLID Z22R? F JIX| YWY
had a noticeable influence on how students learned. D5 SHAE0| O{EA| HHR=X[0l thal =0 == gEt
2 H0IXls EUEHCH

Q: What would be the best title for this article?

Q: Of 7|0l 7hy LSk2 =27

Section C - Chapter6 A119



(a) Different Bilingual Classes in Elementary Schools

(b) Bilingual Education Has Little Effect on Students

(c) Spanish-Speaking Students Face Problems in School
(d) Bilingual Education at Johns Hopkins University

[5HAd]
Fo0|st s HOIX| UChe A & 4 UCh wet ' St gint 2te
[013]]  pros and cons S4! Hct; TiHt y=

The Los Angeles Dodgers beat the San Francisco Giants 13-

12 in a 13-inning stunner today. Manny Ramirez hit three home

runs during the game, including a grand slam in the ninth to
send the game into extra innings. The game lasted over four
and a half hours, partly because there was a rain delay during
the seventh inning stretch. This was the third straight win for
the Dodgers in their current series with the Giants.

Q: Which statement best summarizes the report?

(a) Manny Ramirez scored six runs against the Giants.

(b) The Dodgers won a long, exciting game with the Giants.
(c) The Dodgers-Giants game was delayed by rain.

(d) The Dodgers and Giants are tied in their series.

[a14] = 2F9| “The Los Angeles Dodgers beat the San Francisco Giants~."0lAl 22| FXE & 4= lCtH

ol0|E LHZESt long, exciting game2 H St (b) 7t HEHOIC,

[02]]  stunner 71EA7|= AfHS7Y ¥2]  grand slam 22 &2

Now you can own one of Next Stage Processor’s top of the
line PC notebooks, starting at just $499. If you purchase one
now, you can also get a cleaning kit, external disk drive, and
Microsoft Office 2010™ installed, all for free. Also, when you
register your notebook, you get 24/7 access to online
technical support and free software updates from Next Stage.
So don't delay; get your Next Stage notebook today!

Q: Which is correct according to the advertisement?

(a) The notebook comes with Office 2010™.

(b) The special deal is for less than $400.

(c) One gets a free cleaning kit through registration.
(d) The notebook has a built-in disk drive.

[aH&]

MIEE S5

5t == 740 OfLla} Af mf =

O T

In local news, homeschooled thirteen-year-old Samuel Coste
won the Oregon Geography Bee today and will represent
Oregon in the national geography bee next month. The son
of a Romanian immigrant, Samuel won by correctly naming
which country Saxony is in, which is Germany. This bright
student has been interested in geography ever since he took
a family trip to Europe when he was six. He says that he
might want to use his knowledge of geography to become a
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make a mountain out of a molehill ZAZCH5ICt G2 LS Tk

a cleaning kit, external disk drive, and Microsoft Office 2010™
= X082 ()= Bol & 4

(o) 27 =0 HE wFIS S 90\7\ AP\ g 7RI
QF=Ct
(c) ARINE Uodt= SMHMES StwoM 2XIE 74T UCh

(d) Johns Hopkins CHatOAQ] 271 =20 HE 1S

Z40] o 7|\ @Xjo|=22

0tX|2t9| “Neither method had a noticeable influence on how students learned.”S Sdfl 271f 20 HE WK0| A& ZAxt
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LA DodgersZt 1301'&7tX| 7t= % £0il San Francisco
GiantsZ 13t 122 S2|A&Uct
of dxdoz o2 F2g nEhE) &
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717} FlssA LY,
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Q: 0| B=E5 7z & Qofet 4427
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(o) Dodgers= Giants2te| 21 S0[2FE Z7(0fA 0%,
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professional pilot when he grows up.

Q: According to the news story, which is correct about the

student?

(a) He won the national geography bee.
(b) He is training to be a professional pilot.

(c) He traveled to Europe when he was thirteen.

(d) He is the son of an immigrant.

[aH&]

= ?&¢ tales

“The son of a Romanian immigrant, Samuel ~.”0llA] Samuel2 0[2IXt| OtS0[2t= Zig &
= a2 = thslof| oFx] ETIeHK| U= (@)= HOol 2 4

Okay, today we're looking at the Boxer Rebellion in 1900. In
1898, peasants in Northern China began a rebellion with the
intention of getting rid of foreigners and overthrowing China’s
Imperial family. But then the Empress Dowager actually
supported the rebellion. So the rebels turned to just killing
foreign ministers and Chinese Christians instead. To protect
their interests and countrymen, several nations sent an
international force to China and eventually subdued the Boxers,
taking over the capital of Peking. This defeat weakened the
power of the empire and helped lead to the rise of the

Republican government in 1911.

Q: Why did the Boxer Rebellion in China begin?

(a) Rebels wanted to recapture Peking.
(b) The Empress Dowager ordered it.
(c) Foreign ministers and Chinese Christians wanted more

influence.

(d) Rebels wanted to purge foreigners and overthrow the empire.

[a1d] &= 9w 229 ¢
7
[012]]  the Boxer Rebellion 2J3izt At

2 WiUCH

..with the intention of getting rid of foreigners and overthrowing China’s Imperial family,~
ol ‘Bd' g %* % QlC}, getting rid ofZ purge® HKE (d)7F HEOICH,

purge =Fsich ®Matct

Just to let everyone know, the Huntsville Library will be holding

its annual fall book sale next week from the 25th to the 30th.
We will have thousands of used books of all kinds, both fiction
and non-fiction, ranging in price from 50 cents to 10 dollars. As

dlofl xXpalel Xj2fst XAE oI5t
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JEX 0] dAfs WEroz Zielg

always, it is first come, first served. If the sale is anything like

last year, then we're going to have our hands full. If you'd like

to volunteer, please speak with Miranda at the check-out desk.

Q: What can be inferred from the announcement?

(a) Miranda is a volunteer at the library.
(b) The library did not raise enough money last year.
(c) Last year’s book sale was very busy.

(d) There will be more fiction than non-fiction on sale. d
[3H4]  “If the sale is anything like last year, then we’re going to have our hands full.”0lA| Z{E EAL0]| D4R HCHE AS & 2
glooz HEe (c)olct,
[012]]  first come, first served 42 have one’s hands full SA| Hct
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